(3110-3 MCR)

I YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part 11 — Mathematics
LINEAR ALGEBRA AND VECTOR CALCULUS

{Regulation 2013-2014)

Time ; Three hours Maximum : 100 marks

[

SECTION A — (6 x 6 = 36 marks)
Answer any SIX questions.

If uy and w, are two subspaces of a vector space 'V(F), then {w, +w,) is a subspace of
V oand wy +w, = (wl Uw2>-
V(F) 205008 (v, +w,) &0060°00nd V(F)E (w, +w,) &3080u0 @9 208aw
wy + wy = {(w, Uw,) &0 avdod.
Show that the vectors {(1, 1, 1, 1), (0, 1, 1, 1), (0, 0, 1, 1), (0, 0, 0, 1)} form a basis for R*.
{(1,1,1,1),0,1,1,1),,0, 1, 1), (0,0, 0, 1)y 508 R* D 50 YTOBD BIHod.
Find a linear transformation 7" : R* - R*such that 7(1,0)= (1,1} and 7(0, 1} = (-1, 2).
T:R - R® % T(1,0)=(1,1) 8at» 7(0,1) = (-1, 2) 25523 exwze 5838775 Kedodod.

If T is a linear transformation from a vector space V(F) into a vector space W(F) then
N(Ty, null space of T is a subspace of V.

V(F) 08ain WF) oo Bodh d8aodoeeren uBain TV » W edodd awer Z)Bégéooné
N(T) o0 3roosordin V & dorotordhn epioosd srsod.

N -
- r

T

1
Show that : VL—

r; r

\I =
V[—l- | = —35 @R ATD06.

r r .

F dir
—x

dt di?|’

If ¥ = acost f+asint}+attan€§ , then find

dF dF
—_—
dit®

dt

Deusd ABoSod.

ancostf-r-asintj-&—attané'i; 9000

Evaluate IK -d¥ where C is the line joining (0,0,0) to (2,11) given A = (2y + 3)f + xzj(yz - x)}:',
. ¢

4= 2y + 3F + x2i(yz - 2)B w005B (0,0,0), (21]) o Bend By € Dowd J‘Z -dr Dend 5085 08,
[a



11.

If @ =(a,,a,), B ={b, b) then show that (a, ﬁ) = 2a, b +a, b, + a,b, +a,b, is an inner product
on V,(C).

a =(a,.a,) B =1{b, b,) ©a0B (a, f)=2a, b, +a, b, +a,b +a,b, ¥ V,(C) &S S0oBSeRO &

SECTION B — (4 x 16 = 64 marks)
Answer ALL questions.

Each question carries 16 marks.

(a) Show that any linearly independent subset of a finite dimensional vector space 1s either
a basis or it can be extended to form a basis.

a8 $BB B85 I8TOBOEOS” I Kar dxBoy GIIWAE errthn ¥HBoSd Boe
08 esTrEREIFET DOVKVD JIH0s.

(b) Show that {(2, 1, 0). (2, 1,1) (2, 2, 1)} form a basts of V;(R).
{2.1,0)(2,1,1).(2, 2, 1)} 5208 V,(R) & 55780 @p@osd S50,

Or

(a) If w, and w, are two subspaces of a finite dimensional vector space V(F) then

dim(w, + w,) = dimw, +dimw, —dim{we, N w,).
V(F) 38208 5630es SEToBTTDE e w, GFOBTTBD
dim{e, + w,) = dimw, + dim tw, ~ dim{ze; N, ) B BSod.

(b) Extend the set {(1 2,3, 0} (2, -1,0. l)} to form a basis for V,(R).
Vi(R) & {(1,2,8,0) (2. - 1.0, 1)} 32088 esgrsiodiyer bosod.

(a) Find a linear transformation 7 :R'— R® whose range space is spanned by
{(i,0,-1).(1, 2.2)}.
{10, - 1) (1, 2,2)} D 28RBS TgroBoTO Ko wwer $858F50 T: R® > R* X o8gore

£0f7Hodk.

(b) If a, § are two vectors in a unitary space then prove that 4{a, 8) = hor + ,8” e + ,8“ +
T
o8ab  eoBTwos® o, e Bod BBk wand 4l f)=la+ g e+ g +

fla+if] - ila - if] o0 srsod.

2 ‘ (3110-3 MCR)



12,

13.

14,

(a)

(b)

(a)

(b)

(a)

(b)

(b)

Find the null space of the linear transformation 7 :R* —> R® defined by T{x,y)=

(x+ ¥ x- ¥
T:R 5 R awer 58385 Tle,y)=(x+y, x~y ) @ DS T Bk, éj‘béa"oéc"ém
Sir‘»’))gsboc%.

Apply the Gram-Schmidt process to the vectors {(2 1, 3), (1,2,3), (1,1, 1)} to obtain

orthonormal basis for V,(R) with standard inner product.
e s SgedsdrRos {2,131 (L23) (L1138 ®od  V(R)

SOBZLTOBTFRODD 02POORSBE EXRTKB0.

-~

Prove that (f x V)x F=-2f

(F le F=-2f D d5rnobod.

If 7 =(x+3¥k + (y=82)) + {x + pz)k is solencidal, find p.

f=l(x+ 3y)f +{y- 32)} +-(x + pz)ié B8% dTronsdd Bond p DR FRRTRIBN.

Or

Prove that grad (Z ‘ E): (E . V)Z + (f—L V)E + [E x curﬁ]+ (}f X cm‘&_?).

grad { a. B] (B- V)A (A -V)E + (Ex cu,rlZ)+ (Excurlg) 90 DETDOD0G.

Find divF and curlF where F = x*zi - 2y°2%j + xy’zk at {1, ~1.1).

F=xzi- 2y323j + :r_yngz a0 (1, -1, 1) ég divF 5:Basw curlF & §F~’)o§5bod.

State and prove Stokes theorem.

8y DErosBD BHHI0D DETDHOVOsE.

Evaluate _”xy(x + y)dxdy over the area between y = x* and vy =x

y = x 2080t y = x Bped S62BD @Prodiny ny(x + y)dxdy Deust EE% 04,

Or
3 (3110-3 MCR)



16. {(a) State and prove Green’s theorem.
AS NEROBINK (H3909 JETBoD0S.

(b) By stokes theorem evaluate

I(— y3f +xsj)‘dF over x> +y><1,2=0.

J‘(- v+ x? _;) dr 08a x¥ +y° <1,z = 0 @ond P&y depowRy 535°R0D Kedodod.

4 (3110-3 MCR)



(31104 NA)

II1 YEAR U.G. INSTANT EXAMINATION, JUNE 2017.
Part I[I — Mathematics
NUMERICAL ANALYSIS

(Regulation 2010-2011)

Time ;: Three hogrs Maximum : 100 marks

o

SECTION A — (6 x 6 = 36 marks)

Answer any SIX questions.

1xy?

z<l

If R=

and errors in x,y,z be 0,001 compute the relative in R where x = y =z =1

2.3
R:ixy @O x,y,z 8% &%9%50en 0.001 'e.'Jcmé xr=y=z=1 e@awd R &° ;Sbfas‘ ﬁag

z-l

800 wodar Daod.

Find the missing term in the following data

808 5¢3¥ 2008 G0D DN EROR"H0BN.
x 45 50 55 60

f(x) 30 - 20 0.225

Prove that ¢S = %(.A + V).

uS = %(A + V) DErBoBB.

Find the polynomial which takes the values.

1808 Dendedn EORALOE wPID8 ERoAT 0.

1D =-21F(1)=15f(2) =12, f(3) = 13.

Fit a straight line to the data
(808 STroTRANL el HET DY HoReHod.
x .1 3 b 7 9

y L5 28 40 47 6.0



G.

1O

Find the first derivative of f{x} at x = 1 from the table.

808 D38 00d f(x) Dok, Incsed edsorrRy x =1 I Aedowod.

x -2 -1 01 23 4
fx) 104 17 0 -1 8 69 272
1

Evaluate _[
1]

dx by Simpscen's L rule.
l+x 3

1

1+ x

dx % &85 04,

i
RIS é dabsn wd |
0

Solve the following system by Gauss-Seidal method.

Ao-0GS 588 oo 808 $Ro8troy fosod.

W0x+2y+2=9,2x+20yv-22=-44 - 2x + 3y + 10z = 22.

SECTION B — (4 x 16 = 64 marks)

Answer the following questions.

(a) Find the real root of x® — % — 2 = 0 using Newton-Raphson method.

RIS -0ayd 9G& 5ArRod 1’ = x - 2= 0 HDESEFDS 25 THD Doren0d FORHOE.

{b) Using iterative method, find a real root of 2x = cos x + 3 with x, = %

Xy = ;i OV 2x = cos ¥ + 3 DAEYEI0 Y, TRD-WVIEERY HIHE E’Jgé? IR0
0808,
Or

(a) Find a real root of xe® = 2 using Regula-Falsi method.

Briger-ody SEAS® xe” = 2 L0 AN, TR Horery SWEY 0.

(by Using Biscction method, find a real root of the equation x* + x - 1= 0.

X4 x - 1= 0 3B BN Bwod SEAS” D Sarered SREY,08.

2 _ (3110-4 NA)



11,

13.

11

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

State and prove Newton's forward interpolation formula.

RIPgeam DT 00 0oBBEER B Bhn B, DETHOBBW.
Apply Newton's backward formula, find f(0.63).

808 S568¥ s Argpas-S8HBD APBBRSBIRoD £(0.63) Devd EROFRIAN.

x 0.30 0.40 0.50 0.60 0.70
f(x) 06179 0.6554 0.6915 0.7257 0.7580

Or

State and prove Stirling’s formula.

RBof) ArEsn (35909 Her Ianod.

From the following data find f(1.17) by using Gauss’s forward interpolation formula,
808 Je3E od AR HB D Br@ands ord [(1.17) B ¥ 0d.

X 1.0 1.05 1.10 1.15 1.20 1.25 1.30
f(x) 2.7183 2.8577 3.0042 3.1582 3.3201 3.4903 3.6693

Find the first and second derivatives of the function for the table at x = 1.
808 5635 ol x = 1 53 BoaKed 2Bk Jo&d whsemred §98°,08.

*x 1 2 3 4 & 6
y 1 8 27 64 125 216

Evaluate J log x dx by Simpson'’s % rule.
3

L

DoBye % [ S@IrRod j log xdx Qo053 SR 0.
4

Or
Fit a second degree parabola to the following :
808 STroEAHWN 8.8 Sordecoky Pododk.
x 01 2 3 4
¥y 1 18 13 25 63

1
Evaluate J(flx - 3x%)dx taking 10 intervals by Trapezoidal rule.

Al

1 _ )
10 53779 &537806° Mo Bocides® [ (4x - 3x%)dx desdiy |BderanEd JroRsaros
0

Srﬁjgsbo&.
(3110-4 NA)
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16.

(a) Using Runge-Kutta fourth order method to find ¥ when x =1, given that y =1 when

(b)

(a)

(b)

. d -
x=0 2271
de y+x

DX 5 v -0, 3 yo1 o Soh-toug 3EOD G3APRod x =1 eowd

dx y+x
¥ eI AR,

Solve the equations of Factorization method.

S EETO5Ye) ::;g@:o &3@A0D 1Bo8 JAuESeTen Qodod.

ox-2v+z=4Tx+y-52=83x+Ty+4z=10.
Or

Solve j_y = 2x — y, ¥(1}) = 3 by Picard's method.
x

55@3 IEBD dy =2x — y, y(1) = 3 L >Hodod.
@ dx

Solve the equations by Jacobi's method.

1208 HoE8easneR) 5% 58 oo FHoBos.

5y +2y+2z=12, x+4yv+2z=15, x+ 2y + bz = 20.

(3110-4 NA)



(3115-3)

[IT YEAR U.G. INSTANT EXAMINATION, JUNE 2017.
Part 1T — Political Science
POLITICAL THOUGHT

(Regulation 2010-2011)

Time : Three hours Maximum : 80 marks
SECTION A — (2 x 15 = 30 marks)
Answer any TWO of the following.

1. Explain the sources of Ancient Indian Political thought.

(D gEeh U"asﬁ)@éjégg e3P HdBohiow.

[~

Critically examine Plato's Ideal State.

De5° eststs) orasg gTOIRL 0BOD DMTGEOT 56FIOPD.
3.  Examine Hegal's views on state.
orass0p B e 0800w,
1. Explain J.8. Mill's views on liberty and Representative Govt.
50 B08akL (A (HEFBIOP B.OHR. e @P|SrolreRy dHBoHiw.
5. Explain the Gandhi’s views on Ahimsa and Satyagraha.
e2rod Hobakh Haryirey o) erareds D98odHnw.
SECTION B — (2 x 10 = 20 marks)
Answer any TWO of the following,
6.  Examine Aristotle’s views on revolution.
Do ebredS roredy H68doHaw.

7. Karl Marx ideas on classless society.

9 Boeds BAT0D SOOI} ) SRTE.
oy, D
A 7 A &

8. [xamine the social contract theory of John Locke.

eeserE AT 2oy iam;oéom 3)580@;&».



10.

15.

16.

7.

19.

Explain the political and social views of Dr. B.R. Ambedkar.

200838, § Do, orasdahy srorery 99BoB.

Explain Manu's concept of Varnadharma.

DB G0y, PG BB BB

Explain Rousseau’s General will.

SR wRHI DDBoYHW.

SECTION C — (4 x 5 = 20 marks)

Answer any FOUR of the following.

Radical humanism

oSS FeIres0EO.

Write an essay on Kautilya's Arthasastra,
Sre3eugd edErRop F5H0 ErAiBL.
Explain the Nehruvisam concept of democratic socialism.

(DEFD GBS FrRFTEO Y DETT® IO D580

Plato’'s communism.

éﬁs éw?sbeso.

Explain the concept and role of Dharma.

CSCS&O Gog), APHAR, B DHBoHIw.

Explain Machiavelli's views on morality and religion.

DA 208 B0 Jr8aHHd graresy dHBodRw.

Thomas Hobbes’s absolute sovereignty.

P00 Py DEDE TS H5So0.

Javaprakash Narayana.

BALHSE TT°ARE0.

(3115-3)



Utilitarianism

&DSITRTTTS 2):3;060.

Manu srumthi

é)&').)é&q)@.
Matsya Nf/aya
Zmén) 5 Fo‘éo‘.bo.
Human Nature

DIPOD A0,

Surplus value

2O Dewd.

SECTION D — (5 x 2 = 10 marks)

Answer ALL questions.

(3115-3)



(3115-4 PP)
IIT YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Political Science | |
PRINCIPLES OF PUBLIC ADMINISTRATION
(Regulation 2010-11)
Time : Three hou.rs Maximum : 80 marks

SECTION A — (2 x 15 = 30 marks)

Answer any TWO of the following.

1. Explain the importance of Public administration in developing nations.

08 Dosity) BEFres® 5oty v (HEneBHRo 58090,

2. Bring out the relations between public administration and political science, sociology.

SEOHS oD, TBRS PR, SHrs YOS Ho Howorre BISHEANHW.

3. Discuss the principles of Budget.

2ges o> HBodaEn.

4.  What are the determinants of public policy?

PaEg TR DPano 0BBD?

Write an essay on public relations.

]

(DB DOVOTTOY 8.8 TgRHD0 AR,
SECTION B — (2 x 10 = 20 marks)
Answer any TWO of the following.

6.  Explain the differences between public Administration and Private administration.

(BEEg 20D, ([T OV N¢YTo darein H380S04.

7.  Define centralization. Explain its merits and demerits.

o858t DUGDON, T ergs Japerd IHBoPHI.



10.

11

13.

14.

16.

17.

18.

19,

Explain merits and demerits of Delegation of authority.

@S SHH erdf, Hapoy dDBoDHw.

Discuss Taylor’s scientific management‘principles‘

308 Yo DG Do SBYOBOR.

Write an essay on line and staff agencies.

B $80%0 e B &8 THIN0 FEALIDIW.

Explain Herbert Simon’s decision making theory.

P05 DYoarE8es ALoBoi H5BoDIN.

SECTION C — (4 x 5 = 20 marks)

Answer any FOUR of the following.

Managerial view.
DEgra By5HEo.
CARD.

9.

Prismatic society.

EEBE BATEIN.

Co-ordination —co-operation.

ARHZO0 - HTF°T0.

Hierarchy .

EATRONS [e8,

Classical theory of organization.
OO 53R oo,

@
Explain budget preparation.

2GS BroseH 2580306

Span of control.

DCDOBETDH.

(3115-4 PP)



20.

(a)

(b)

(c)

(d)

(e}

E-Governance.
e~ K5y

Spoils system.

0BGy &~ AP 3ES.

4Ps of organization,
2R 4Pe dalhdoren.
Accounting .
eT0e30R.
POSDCORB.

EDGQS"BQ.

SECTION D ~— (5 x 2 = 10 marks)
Answer ALL questions.

Answer in 1 or 2 sentences.

(3115-4 PP)



(3119-4PF)
ITT YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Economics
PUBLIC FINANCE AND INTERNATIONAL ECONOMICS
(Regulation 2010 — 2011)
Time : Three hoﬁrs Maximum : 80 marks

PART A — (5 = 10 = 50 marks)
Answer the following not exceeding 3 pages each.

1. (a) Define public finance and explain its scope.
eASTa 1] FIRQDLA VEII0D & T SBED DewHeaw.
Or
(b) What are the different sources of public revenue?

[SE08g ol Ko D98 eproren 29

2. (a} Explain various classifications of public expenditure.
(I808s HsaRS Ko 2265 HB5se20 2DBoBOG.
Or
(b} Define public debt and explain its classifications.
L:)?:x)é;g 20DV DESDOD, (D eves HREBD Beyod.
3. {(a) Write an essay on terms of trade.
DYE DoPHe P &8 TR [FEOIR0.
Or
{(b) Critically examine the theory of comparative costs related to international trade.

©OBTHAL TET0S H020HODH BOTHE H5ak Dirosry) DGTGSo H880odos.



6.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the causes of disequilibrium in balance of payments.

287 T8 DYoo FiES*D eRHFY0 Ko SPEmHLOR 95800

Or

Write an essay on different types of tariff.

DA BEI0PDH oosee Ke8y o8 TRrR) (Erabodn.

Discuss the role of W.T.O in promoting international trade.

aoégédi) DEEI0R 2o2roBoes” W.T.O G308y, B H8Y0HR.

Or

Discuss the export promotion policy in India.

8B BEOS® NODS PREVTE D00 B0 BBy0DH.
PART B — (5 x 4 = 20 marks)
Answer the following not exceeding 2 pages each.

What are the functions of public goods?

528 Do oferes 2207

Concept of Value Added Tax.

DeSd EDDD SR BTN

Reasons for growth of public expenditure.

g S5a0 VSAEDE Ko S¥ere.

Economic effects of public debt.
|Peodstoes e;sgé (SgTareL.
Internal trade and international trade.

D305 98F0 DBasw woBbTHAL HYKo.

Or

Trade and economic growth.

Sggo nBatw esgg Q)Q-

(3119-4PF)



10.

11.

13.

14.

(a)

(b)

(a)

(b}

Differences between tariffs and quotas.

e 00 BoBain STere Bogye Bzren.

Concept of optimum tariff.

OOOISOL HIOFO 2D,

LLB.R.D.

0.0.655.8.

Qutsourcing.

eeS AByoh.

PART C — (5 x 2= 10 marks)

Answer the following in I or 2 sentences.

Canon of economy.

20 T.’)édij O30

Internal debt.

@oégéameao.

International trade.

@oég@oﬁb TS0,

Balance of payments.

?JQOZQ)&T%:QO.

LLM.F.
2.050.05.

(3119-4PF)



g O — ©00SPTren, ARSI, ISP
82 1808 eeosord, Bolowdd of oie SHodgoo
Ao%od. (2 x 5=10)
(1)  &d33Ireos o (b)  edHIrS
() 3% @ HBsoErRrOosTEo

& 1808 A0S Bododd Aoeirdeon dHBobdodk.
(2x3=6)

(a) g8 D (b) Do ab&
(c) DG a0d (d) B WS

o (808 @0 Bodotdd AL 9580008,
(2x2=4)

(2)  RosEeD (b) (O

(€) eRERrd () 9065@%

4 (3123 - 3)

(3123 - 3)
[ YEAR U.G. INSTANT EXAMINATION, JUNE 2017,
Part [{ — Special Telugu
HISTORY OF TELUGU LANGUAGE
(Regulation 2010-2011)

Time : Three hours Maximum ; 100 marks

gFHO o) — 2770 21“556930

I & o8 e Surdodd  doride Ty

ToOR00., : B3x4=12)
() O, BALBKD SPH Beb.

(b)  gErosRvend SEaNE) KBEE B,
(©)  SBIRGD $08 LTVTROTH.

(d)  dJFowwd SESecaD S*Howid.



3.

(e) Aoy BT 2BFG0D DArHo20
|BDE02D.

() e ofogrEIaire ozl Lm:J°5oanen.

s 308 TS Hardodd 286D HofsTrgen

2HBoBoG, (3 x4=12)
(@) TN (b)  SYSo

¢y £3% (d) SwoRTol0

kc) HETean CY I SRRV

Fo 208 TS Boloedd [ofhd ArBSIrHON

3580508, (2x4=8)

() OO + e (b) | + 3
(€) Do+ wend (d)  DI°S + D
&s (208 70" Bokodd 0yrlE Iuredn o006,
(2x4=8)
(a) BBHo () DEEI0
(@ 5380 (d) 8y
2 (3123 - 3)

6.

grio @ - year SO|1B

& (208 T0ST Bodotdd THOUrS  Barmrares

ov o008, (2 x 15 = 30)

(A)  esoEd0 - BinuD - Bendd o P - U“‘z@b
s atwlele N

(b) (50t FRe’ Benthd Ko paeRy d980B0d.
()  Sr0&dseRy HEgDod, Hrodds Poro deyod.

(d) S0 ERSD ©f  d38erivo KBy

DT BEION® TPAI0G.

So 808 TS Bododd [5odd JArgrIrey TraHOG.
(Z2x5=10)

(@) &8s DG iew

(b)  DgSHI0O

(©) B 308Be0

() BerS 7)) wdgdamgen.

3 (3123 - 3)



16.

UNIT IV

What is a Macro? How to create custom menu for a
macro.

205" edmram? ArE'O custom menu X der
create 3:‘(2&).
. Or

What are the various views present in Excel?
03'365“&3‘9 e DAY O5¢ views K80 DHBodod.

UNIT V
Explain :
2580v0d.

{a) Conditional formatting in Exce!

Excelds® ¥odnsd Méeﬁoﬁ.

(b) How to find right number with solved.
T 600 Pok BeS Fowh 28 dregd.

Or
What are the various operations performed on
charts?

THES* e 6 PAPRGD 206 S eTBRS,
10803 2980TS0k,

4 (3124-3)

Time : Three hours

Lo

(3124-3)

H1 YEAR U.G. INSTANT EXAMINATIONS
JUNE 2017,

Part [l — Computer Applications
REPORT GENERATOR
{Regulation 2010-2011)

Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

Explain various printing options available in
Hxcel.

J2)S° Ko 29¢ Ssve (DotIof eséSQ 1809 258oBod.
Write about function wizard in Excel.

SoES 2 0609 dHBoDoE.

Write about various applications of Excel.

IS DoY), 228 Esre  Applications K802
2580006,



6.

9.

Write vartous Engineering functions available in
Fixcel.

IES® Ko 226 0zdBOR o) HB8od 9BoB0d.

How to imnport and export graphics in Excel?

I3SS® gy Jer a0 o680k JZDR Dewd.

What is a Trend Line? How to create?

Trend Ling esdm 32 e @63355 3:‘(_);53

What is a shared work book? Explain.

shared work book 0809 3380006,
What is an Excd solver?
IS Fexgh e A2
SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.

UNIT 1
Kxplain various parts of worksheet.
worksheet G3og), DD grredy dDBoBo&.
| Or

2 (3124-3)

10.

11,

13

.

Explain features of MS-Fxcel.
MS-Lxcel (Bog), oferomn 558808,

UNIT 11

What is an operator? Explam various operators
used in Kxcel,

358008 edmp? lixcelS® Ko 298 Sso ednb
B0 23803508,
Or

What is a Function? Explain various types of
functions in Excel.

Function e®dm 3207 Excels® Ao 99¢ 550 HOED)

Bod 2580808,

UNIT 111

Write about various Data Base Functions in Excel.
JHSE’ e 92 8570 Data Base Functions /809
9580308,

Or

Describe how to edit chart in Excel.

Excel &° B0 Edit 3% ogrmrgy 9560508,

3 (3124-3)



17.

18,

UNIT IV

Explain the procedure for retricvable data from a
database.

Gerio Gerdld ol Jer retriev J3E" 2380004,

Or

Write a procedure for creation of report using
design view, q

850 APS Yy’ der |Bakes J6° 2BBowod.

UNITV

How to maintain and protect a database.

Gerdody S maintain 08asn  protect 3@65
238odod
Or

What is relationship? How to create relationships
between tables?

BB I B? Vo) gy BBISAPL I
1863565 DE® d5B0w0d.

A (3124-4)

Time : Three hours

(3124-4)

111 YEAR U.G. INSTANT EXAMINATIONS

JUNE 2017,
Part [T — Computer Applications
DATABASE APPLICATIONS

{Regulation 2010-2011)

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.
joxplain various parts of a form.

o B, 92 ey d3BoDod.

What is multi level start?

20§ B35 Pk v 07
[xplain wild cards in access.
AI320eS* Ko S 75 K080 Erabod.

How to set multiple primary key?
QDS (2528 80 I 2e5 IE° 238o0s.

Maximum : 70 marks



6.

10.

What is referential integrity?
B35000S aSediRel 008l Haxs.

What 1s the difference between link table and
import tabie?

908 &Send ubatw ao;bﬁé gend DGy DgEIgROR
H580B08.

What are the various vicews in access?
ArFyoS® Ko Fugo 80 d9Bosod.

How to Recovering a Damaged Database?
28 RN BB der HIWEEoTE?
SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNITT

What is a table? Explain various ways of creating
a table in aceess.

a0 edmdN? AirHS® Badiy 994 Sstaor Jer
1B&e5 Dt

Or
Explain various date types available in access.

AErZneS® Ko 204 GerdDy K800 H38ovod.

2 (3124-4)

178

13.

UNIT 1]
How to create form in design view,
B2 P’ rdoio e BaheS 3 058004,

Or

Explain the procedure of entering and editing data
1n ageess,

OTERS" Gerdy Jer Jowl B &S Bt
DHBoBod.

UNIT 1]

Write a procedure for finding and displaying data
1N ACCeSS.

WrBHRS® Ber der pob wBakn Display B
PBBoS0d.

Or
What is a query? Explain various types of queries.

E°18 e D2 0% Sxre BB 2580008,
3 (3124-4)



(3127-3)

[II YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Statistics
APPLIED STATISTICS
(Regulation 2010-2011)

Time : Three hours : Maximum ° 160 marks

SECTION A — (4 x 20 = 80 marks)

Answer any FOUR questions.

1.  (a) Explain sampling and non-sampling errors.
SAEFS (HIeea 005w ePFBETS |KIre Sarein 9580550,

(b) With usual notation, show that V,, <V, <V .

Srdoren Solmredt V

opt S Vorop S Vian 80 D900, |
2 (a) Explain in detail ANOVA one-way classification.
5D T )@ IFhes IDODDT DNBoHB.
(b) Give the stafistica] analysis of C.R.D.

C.R.D. &g, o8 :Jéﬁ’qea BeuHo0.

3. (a} Explain the principles of experimentation.
(FGTTTEE SIeBRwon DHBoHIRN.

(b) Derive an expression for one missing values of L.S.D.

3R DAV FIHS® &8 S'HodD Densd)y EATHEIE DALEGEIRLH FLRTVHL.

4. (a) Define the time series. Discuss briefly the components of the time series.
SToEBD DEGORI, TrRGE°R eoTe B8 0D0s.

(b) Explain the measurement of seasonal variation by ratio-to-moving averages. Give

merits and demerits of the method.

3O IrHRored APBD 9D SEAY DHBRT S5 IFS JoLEToD, eDOFETON Bosod.



=1

9.

11.

{a)

(b}

(a)

(b)

(a)

(b)

(a)

(b)

Define an index number. Discuss the problems involved in the construction of an index
number.

B9 B0 DESHRBT TR HGoB0S® Iy HBBERY HEYOBL.
Explain Laspeyre’s, Paaches. Marshal — Edgeworth and Fisher's index numbers.

AL, ardy, HrYS - HESE B P3G Kb JoageRy K578y HHBoZIBLL.

Discuss the agricultural statistics in India.

258 D80SO D5HRALE o5 K802 DBBoPHRL.

Explain functions of N.S.S5.0.
52l TS RINT To SaosINTe 505; (N.8.8.0.) @), 00k 2580:h0.

Write the uses of life tables. How do you construct complete life table?
296 De3Ee AIATAIVOY [TPOiNN. L) e B2 :5%5:53 53 VASIm &’)8@035@?
Explain the various mortality rates.

DD DoBes Beds D800G,
Describe the Leontiefs method of demand analysis.
Garrol TB5e HG@BoRl S8R K8y Bosunm.

Explain the methods of determining demand and supply curves.

adrok, ‘n’)g S|EHvey SR ;’Jgéae){n J5B0Bod.

SECTION B — (10 x 2 = 20 marks)

Answer ALL questions.

Non-sampling error.

BRETD (DTRBE Slaren.

Any two weighted index numbers.

I Boky grBs Sd Sogigen.

Mathematical models in time series data.

SR DdoTAre.

Crude death rate.

A0& B8eIte.

2 (3127-3)



13.

IER

16.

17,

8.

Life table.

B2 SN

Cost of living, index number.

£33 |53 BI08 S0,

C.8.0.
BoBaD Hewol TF DarHdw,

Base shifting.
eS8 I8Y).

Pigou's method.

AT 548.

Two way classification.

Bg0es HPEea.

(3127-3)
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III YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Statistics
QUALITY RELIABILITY AND OPERATIONS RESEARCH
{Regulation 2010-2011)
Time : Three hours Maximum : 100 marks
SECTION A — (4 x 20 = 80 marks)

Answer any FOUR questions,

i. (a) Explain causes of variation in SQC.
SQC &° 9870 Ko s8ETes) DDB0DHR.

{b) Explain the construction procedure of ¥ and S charts.

T 803w § See NTYETR) d580306.

2. {a} Explain the construction of C chart and its applications.

C Heo RTYETR Bay o @RSiareRy 258w,

(b  Explain comparison of control charts for variable and attributes.

DD 0HOIE BAL 1O DoLo|BE Jere DEN DHBoVod.

3. {a) Explain the need for sampling inspection.
BBErD I8Fe esdBEBL d960HRW.
{b) Explain producers risk and consumers risk in acceptance sampling,
BEETD  wofisd SHBeS’ DIATKETIR el DBan aB@ER grEsiueR

2SBoHyHw.

4. {a) Define reliability. Explain the importance of hazard function in the computation of
failure rate.

DERHODB HEGDOHHIN. DIOES® e ME3ONEIS" TR (S0 (@N0PBR JHBoWB.

(b) Explain the concepts of censoring and truncation,

B 580 LICEIRD DO DHBOHIW.



(=]

6.

~1

(a)

(b)

(a)

(b)

(a)

(b)

Lxplain meaning and scope of O.R.

0.R. Qw8 Qg:&n 08010 38D B5B8oWwrnw.

Solve the following LLPP graphically.

8o oy Se7085den IvRgdo Bar A 3G oo PO ¢
Max (%83) z =120X +100Y .

Subject to : (DoFROK k)

10X +5Y <80
6X + 6Y <66
4X +8Y 2 24
5X +6Y <90 and (u8a50)

X, Yz20

Explain the procedure of solving LPP by Simplex method.

poRE) 5ES agor QESTS (DeFPsT D005 oW BLHD 235800,
Solve the following LPP using two phase method.

BoB % P |SePdS Dawoghy two phase DGB To QOB
Mim (823) z =12X, +20X,

Subject to : (D088 S'ad)

6X, +8X, 2100
7X, +12X, 2120 and (508as0)
X, X, 20
Explain Vogels approximation method in transportation problem.
gaes SH0dg8° STAG) @0 25GoPHIw.
Solve the following assignment problem.

308 Beronod B0 BoSos

Machine (aoiB0)

I § S 0 ) G A

Job A 2 3 4 o)
(%) B 4 5 6 7
¢ 8 7 9 7

D 3 5 4 8

2 (3127-4)
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11.

13

14.

16,

18.

(a) Explain travelling salesman problem and its solution.

E700R ysed TRIRFL DB BB AEHH JHBoDR.

(b) Explain the sequencing problem of n jobs through 3 machines.

3 ahoEre BT 7 SR EIF0 I BRED SEBD 93BoHA.
SECTION B — (10 x 2 = 20 marks)
Answer ALL guestions.
Control charts.

DADODED DLV,

Specification limits.

WOTEIS eeen,

Reliability.

DIGIVAG.

ASN.

ASN.

Slack and surplus variables.
GOew D08ay e BETERICL.
Unbounded solution,

@;'JBan Fin )

Infeasible solution,

|DBEE0 ARG,

6o limits.

60 esdoen.

Assumptions of sequencing problem.

ESBIPHND RS0 DD,

Duality.

BB,

(3127-4)
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I YEAR U.G. INSTANT EXAMINATIONS,
JUNE 2017.

Part 11 — Philosophy

LOGIC, SCIENTIFIC METHOD AND COMPUTER
APPLICATIONS

(Regulation 2010-2011)
Time : Three hours Maximum ; 80 marks
PART A — (2 x 15 = 30 marks)

Answer any TWO of the following.

1. Define logic and explain its naturc and scope.
BE),T PR RESH0Y, TR JgrTEan wBdn $68
S38oH.

2 Explain the rules of categorical syllogism.

DRDQE T75eld (HAT A A @y JdBodobw.

3. Examine the modern classifciation of propositions.

8ErTEse es¢RE HEELER H83D0HIw.

1. Describe J.5. Mill's methods of experiment,

B.00.206 [PEK 5580000 D8B5B0DB.



w1

6.

10.

PART B — (3 x 10 = 30 marks)
Answer any THREE questions.

Quantily and Quality.

SB83Ter0L HBaln Headud.

Traditional Classification of Propositions.
JSBETS e romrony HPEse.

Fallacies of Figure.

e35yBY [EEALSTIVE

Advantages of symbolic logic.

FOERY B B G300k, |HAreERdaue.

Four stages in Scientific Investigation.

THOD IBFEIS enit> Ssen.

IMethod in Soctal Sciences.

I 0 S,
2 i}

2 (3131-3)

1.

13.

1.

15.

L

PART C —- (< 5 = 20 marks)
Answer any FOUR of the following.
Truth and Validity.
NLIWAY 508050 |DPOTCESS.
Organon.
5T,
N
Universal Ncgative Propostion.

B ﬁ)ﬁ:@;}‘@ég 1_;’)@3;’?550.

Basie Truth Tables.

-8 BBy HEEeD.
Hypothesis.

A

Cause.

5e8Ea.

[nductive method.
e3HDIR ég@.

Anology.

ASyBE0.

(3131-3)
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III YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part I — Commen Paper
SCIENCE, TECHNOLOGY AND DEVELOPMENT
(Regulation 2010-2011)
Time : Three hours Maximum : 100 marks
SECTION A — (4 x 15 = 60 marks)
Answer any FOUR of the following questions.

1. Write about different layers of atmosphere and importance of ozone layer.

TEHSROS R DHE FBOR, LE® 8 (@0 B0 [EEAiB.

-

L

Write an essay on origin and evolution of life.

BHe BDTHYHAW, red S8erB e 0809 aE IR0 0.

3. Deseribe the composition and different groups of blood.

8523 HoPenkn, TS 898 (TPHes 800 H380HAw.

Explain different types of vitamins, their sources and diseases caused by their deficiencies.

1=

DI I57 JeaDoSwR), B ©BoDd SErrey, 763 %50 Do R TYE0R B0 Begyw.

3. Write an essay on mass media communications.

B TIPS FET O 80D 28 TN [FPOIHW.

6. Write about some important national institutions performing research and development.

SBFGH - oPHR orres® HDoinBoy 57 ey Frdab Sogem HBod Eraibw.

Describe about genetic Engineering and its applications.

-1

285 20esR80R, T euSETre 80D DIBoHH.

8. Write an essay on green revolution and types of crops developed in it.

B :)é;‘)m, o0 T°T° eaa‘.’:‘n‘)q)g D08 Dot BP0 HBoD &b TgdR [FPCbw.



10,

1}1.

14.

16.

17.

18.

SECTION B — (8 x 5 = 40 marks)

Answer any EIGHT of the following.

Hydrological cvcle.

2o Seda.

Soil characteristics and fertility.

285 ofETen, FEH0BS.

Mendelian concepts on inheritance.

BRDORES P oS dgrozren.

Antibiotics.

es0e3exBredEen.

Applications of detergents.
desgoese B, vRVDHYTeD.

DDT.
&.G.84.

Fertilizers.

e,

Role of communication in society.

DAe0S® 57D [SArTre (.

Satellites,
&P,

Wheel.
S,

Biofuels.

225 qodsaren.

Genetic disorders.

g Sore.

(3136)
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Single cell proteins.

DY %65 PredSen.

Solar energy.
&3 BE.

Cloning.
£T00R.

Food preservation methods.

e3P0 DegHAsL ;’bgéoeu

www.kvrssgroup.com

www.kvrssgroup.com

®

£
o
Q
X
=
1)
o

WWW.upiqp

www.upiqgpbank.com

(3136)
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III YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II - Commerce
COST AND MANAGEMENT ACCOUNTING
(Regulation 2010-2011)

Time : Three hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.

1. What are the advantages of cost accounting?

5R @8 ool |Haramren.

ABC analysis.

1o

ABC 956,

3. Ideal Time.

.éq)tp‘?e)o.

4. Meaning of Stores Ledger.

ety edF DYGDHOMID.

5. What 1s meant by normal loss?
Aegrses K)go eor5e DHBoWkn.
6. P/V Ratio.

ergs B DB,
SECTION B — (5 x 10 = 50 marks)
Answer FIVE of the following select ONE question from each unit.
UNIT I
7. Define the word cost and explain the classification of cost.
DA DEGD0D, Sgoireeis SPEBoBIB.

Or



A manufacturing concern requires a statement showing the result of production operation for
Sep 2001, Prepare cost sheet.

Particulars Sep. 1, 2001 Sep. 30, 2001
Rs.~ -+ Rs.
Raw materials 1,00,000 1,23,5600
Finished goods 71,500 42,000
Work-in-progress 31,000 34,500

Transactions during the month of Sep. 2001.

Rs.
Purchase of Raw materials 88,000
Direct wages 70,000
Indirect wages 2,500
Factory expenses 37,000
Administration Expenses 13,000
Selling and Dist. Expenses 15,000
Sales 2,84,000

28 domE Sog WRowd 2001 e@d Yoo PoTom B FDOsL SHBYS. B0
AIBEDI BOITE BABNEW.

DHB20D Sep. 1, 2001 Sep. 30, 2001
a7, ae.
06 5m%°en 1,00;000 1,23,500
BAIFGD DD 71,500 42,000
SRR O 31,000 34,500

?\%oaﬁ 2001 seer0d Hg5soren.

)
S0d Sae £ 0R o0 88,000
[SegE DAL 70,000
$6°% dvaren 2,500
P50 asen 37,000
JBIreTe PUn ‘ 13,000
wango 50D pEe 15,000
@500 2,84,000

2 (3202)
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10.

UNIT II

Prepare a Stores Ledger statement under weighted average method from the following
2005 Jan 1 Opening Balance 1000 unit @ Rs. 30 per unit

5 Purchases 2400 units @ Rs. 32 per unit
8 Issues 2000 units

10 Received 1200 units @ 33 per unit

15 Issues 1000 units

20 Purchases 1000 units @ 36 per unit

25 Issues 1200 units

30 Returns from work shop 40 units

31 Purchases 800 units @ 35 per unit

31 Issues 800 units

Bof D3830e 200G grBS Bifen SEBS” 5y ST IIBER HALE SoHod :
2005 3958 1 @we80dd) deg 1000 cSardew, A e 18 5. 30
5 S0’ 2400 ahrdew, aoedes 18 8. 32
8 &°8 2000 ddey
10 529D 1200 e, aueRes 18 &, 83
15 28 1000 ciordeyn
20 E"ROREY 1000 coedew, aLuedes 18 . 36
25 &r8 1200 afrdey
30 3B}, e300 THL 40 AmdeY
31 SRR Y 800 clrrden, akoedes 18 & 35
31 &r8 800 d~dey

Or

A worker takes 9 hours to complete a job on daily wages and 6 hours on a scheme of payment
by results. His day Rate is 0.75 ps per hour. The material cost for the product is Rs. 4 and the
overheads are recovered at 150% of total wages. Calculate the factory cost of the product

under the methods.

(a) Piece Rate (b) Halsey () Rowan.

a8 P50 5 O A o5 50D P Doerdd 9 Moten SWoLrE). S0 2 K7 oy «d
529 6 Howes® Dabroch. eBd &% Ben Ko 0.75 . .8 HKH 48B3 sHedd edbabd 28
5.4, £5BIE D500 JoBo 5K SeTe 150% B, @ S 5§ d5ano BoB SgEve
g 88,0000,

(a) 500 we} (b) ) (o) 55

3 (3202)



11,

UNIT III

A product passes three processes A, B, C prepare process accounts.

Particulars Process
A B C
Materials 2050 2688 2509
Labour 5000 8000 6500
Production (units) 9500 9100 8100
Normal loss 3% 5% 8%

Normal loss value (per unit) 0.25 0.50 1/-
No. of units Introduced 10,000 units
Value of units Introduced (Rs.) 10,000/-
28 330 A, B, C &3 3 15000 o500 &8y eadhdond. ($o8 3580 eprbor P8R0 TErod
HoIrdd Sotobw.

DIBZNW 5%
A B C
20380565 2050 2688 2509
153 5000 8000 6500
TP ORE (68)8) 9500 9100 8100
a‘)vt;véea_:égo 3% 5% 8%

Fgrdes DRo dend (oo 18)  0.25  0.50 1/-

5% o ey 10,000
[93% eI 0doredey Deod (&uen) 10,000.
Or

The following particulars of a Contract Rs. 10,00,000 incurred the expenses.

Materials — Rs. 2,00,000/-, Wages — Rs. 1,40,000/-, Plant — Rs. 50,000/- Overheads - 14,000,
Cash received - 4,00,000/-, Work certified — 5,00,000/-, Work uncertified - 50,000/-
Depreciation on plant — 20%, The value of materials in hand - 40,000/-, Purchase of Raw
materials — 1,60,000/- Staff Expenses — 40,000/-, Materials returned to Stores — 10,000/-.

Prepare Contract Account.

4 (3202)



13.

o (500 DHTHed 2.5 sToRTE ¢85 10,00,000/- DoBHE. Se 308 PBnen BS0HDRIHK.

s00& Sorpes - 200,000~ 38Teo ~ 1,40,000- roen - 50,000/, £:58520&) - 1,40.000/
DB D - 4,00,000/- 537000 0 - 5,00,000/- 535780059 S - 50,000/ 0N P BHIVE
- 20%, 30é ém‘%“e) Deg - 40,000/ 306 :)CD"‘%"B) SR - 1,60,000/- ‘232.)?)0& PEeY - 40,000/-
TSR0 DD DS a’)c:?oc;en ~ 10,000/-

SPOETE) IR HOIE) DASLN.

UNIT IV
Sales and Profits of two years

Year Sales  Profit
2014 1,50,000 20,000
2015 1,70,000 25,000

Calculate :

(a) P/V Ratio

(b) BEP

{¢) Sales to earn a profit of 40,000/-

{(d)  What is profit when sales are 2,50,000/-
Bodiy Don @K)JéS"E)J SBai ergren

0} emés"w oo

2014 1,50,000 20,000

2015 1,70,000 25,000

ER0ATRI[W ¢

(a) P/VIQHS

(by DS ey Dot

(¢) 40,000/ ergio 5 eaﬁjésven D

(d) 2,50,000 ea;.‘).)és"eu 0D LG JOB7?

Or
5 (3202)
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14, Following Information taken a manufacturing concern. Calculate

(a) Material variance
(b) Material price variance
(¢} Material usage variance.

Material Standard Actual
Qty Price Qty Price

(units) (Rs.) (units) (Rs.)

A 4 1/- 2 . g
B 2 2/ 1 2/-
C 2 4/- 3 9/-

F¢ (508 FarTreno el &omsE S5 08152 DBEHES D5ered KRB,

(8) DeIBawS Ao DBes.
(b) AP 38 D3

©  BEBAHS 3EED) 2986
e3Bapd aredo B
5885730 5 D830 fnfad

(crdeve)  (80.)  (ardawe) (&)

A 4 1/- 2 2

B 2 2/- 1 2/

C 2 4/- 3 9/.
UNIT V

Explain the limitations of financial statement.

&sgé BT HBLBIOD D60/,

Or
6 : (3202)




16. The Budgeted Expenses for the production of 10,000 units in a factory are furnished below.

Particulars Rs.

(per unit)

Material o _ 70
Labour 25
Variable overhead 20
Fixed overhead 10
Direct variable overhead 5
Selling Expenses (10% fixed) 13
Distribution Exp (20% fixed) 7
Administration Exp (Rs. 50,000) 5
155

Prepare a flexible Budget for 8000 units.
28 g0 10,000 afordey &S ddres 3dah Iy,

8.

ROnTe R IIE]
(s 18)
238005 70
S 25
58 L56rE 20
2B e3BIE 10
B8 48 eE 38580 5
esdygo e (10% JB0) 13
S0de3 8N (20% 9860) 7
SBaremr PEyen (8°.50,000) 5
155

8,000 050 FroN DY Y WS BALL Doodw.

(3202)
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11, Write the need and objectives of intellectual (3201)
Properey Rights Act.
8 Doss T8N, Do e?‘.)éégé, ﬁé?“é&\) EP0S000. {1l YEAR U.G. INSTANT EXAMINATIONS,
JUNE 2017,

UNIT ¥
Part 1l — Commerce

15, Explain the company directors qualifications and
disqualifications. BUSINESS LAW

Eoun GG58 egven SoBotw esiEben A3B0HH0. (Regulation 2010-2011)

. . . R v - TPhas o 1 . .
16, Explain the doctrine of indoor management. Time : Three hours Maximum : 70 marks

208D DEGTEs REroBiLN HBOHI0.
@ SECTION A — (4 < 5 = 20 marks)

Answer any FOUR of the following.

17 Deline agrecment.
es(ff200eS DBHID.

2. Free consent.
?oogﬁ‘:) ‘K)fn&@.

3. Contingent contract.
3R 0B SPoRrE.

4 (3201)



7.

8.

Rights of an unpaid seller.

D80 esBD eSy¥orrd ety en.

District forum.

Qe;: 0.

Statutory meeting.
TITEE DATDES0.

SECTION B — (5 x 10 = 50 marks)

Answer FIVE of the following. Select ONI question

from each Unit.

UNIT I

Define contract and write the essentials of a valid
contract.

SPOETE I DEGDHOD Lgaﬁ)a)g@_b SPOTY) &S0
(P03,

Define consideration and write the essentials of a
valid consideration.

P8I0 DED0D Lsmmg:p_n FBI030 A,
EIBIEO [

2 (3201)

10.

11.

13.

UNIT 11
What are the features of a wagering contracts?

2™ SO GY), ) 3972

Write various modes of discharge of a contract.

5P01erE) HBTDIL DoBY DY :)géﬁoen P00,

UNIT 11T

What are the differences between sale and
agreement to sale?

SIRERDD), edyso DBO BRB00LNDH Ko Boren
27

Write the differences between conditions and
warranties,

N8BS, TPHo®H Ko BEren @F0e5hmn.

UNIT IV
Mention the rights of consumers.
DDBIHEB0 KoY BB,

3 (3201)



13.

4.

(¢} Sade of investment.
NVEIV BAREDH.
UNIT 1V
Explain the audit of educational institutions.
Dy Soge B 038580 9580008,

Or
Define audit report. Kxplain its types and contents
i audit report.

©B8 BorHRd V0O woES™ Esren BiBAS
D5, HHesH HRare 9H80Bd.

UNIT V
What are the important parts of business letter?

gt SHBSD S00GA ey HHGoB0k.

Or

Define business report. Write the essentials of
good report.

U“éﬁ“é DHOY DEDOT oD 83)668 ooz, e:BL’J%",SS“eJo
@ranod,

1 {(3203)

Time : Three hours

(3203)

I YEAR U.GL INSTANT EXAMINATIONS,
JUNF; 2017.

Part IT — Commerce
AUDITING — T

(Regulation 2010-2011)

SECTION A — (1 x 5 = 20 marks)
Answer any FOUR of the following.
Auditing limitations.

e e30R SBIuEoe.

Appointment Ietter of auditor.

ese0B DASIEHIE S0,

Vouching of cash sales,

DR edysee £.90R.

Maximum ; 70 marks



_U!

Business letter.

méa)vd égdm.

Government audit.

AS58330065 esched.

Audit of partnership firm.

o HAg 303 ese5,

SECTION B — (5 x 10 = 50 marks)

Answer any ONE of the following questions from each

LUnit.
UNITI

Accounting is a necessary where as auditing 1s a
luxury. Discuss it.

T 0t30R 990830 50 eadedoR e)ga D8O,
Or

Define continuous audit. State the merits and

demerits of such audit.

@D e DED0D ergipen Bewdod.

2 (3203)

9.

10.

11.

UNIT II

State the provisions of companies Act, 1956
regarding appointment and disqualifications of an
auditor.

1956 grsdah S02he Byo (@wo edeb @Bwy),
DAL0ER0 DBA BB rrBey Benlod.
Or

Explain the merits and demerits of internal check.

3085 HDP Salnn LoV 5803504,

UNITI11
Explain the objectives and importance of vouching.
5.90R Bk, e‘.aéaméen So8asw [ERAREVN] 3580308,

Or
How to vouch the following?

B0 1808 T30 O Do 5.90R 3@;@?

{a) Cash sales
roliéSs 69:).)&5“&1)

() Bills receivable

Jree Deyen

3 (3203)
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III YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
| Part 1T - éommerce
ADVANCED CORPORATE ACCOUNTING
(Regulation 2010-2011)

Time : Three hours Maximum : 70 marks
SECTION A — (4 x § = 20 marks)
Answer any FOUR of the following questions.

Each question carries 5§ marks.

1. Define pre-acquisition profit.
PR 00 2008 ergren,
2. State the special features of Double Account System,

235060 OT° AP0 G, Lﬁéég OFETOXR BLYHDW,

3. State the Tamitation of Historical Accounting.

B8 857 0tdoR Bws); B8

1, What are the objectives of Human Resource Accounting?

ATDD Hi%e e oloR @), Bairey J97?

3. What is Social Accounting?

DoHToRE ardéé_ag‘oﬁoﬁ B, e:go?
6. Liquidator,
HEieob.
SECTION B — (56 x 10 = 50 marks)

Answer FIVE of the following questions selecting ONE from each Unit,

Eaclh question carries 10 marks.

UNIT 1

7. What do you mean by holding company? What are their advantages and disadvantages?

SFO0R 500d eRTRM? T PAreTe o BeadH.

Or



8.  Following are the balance sheets of H Ltd. and its Subsidiary S Ltd. as at 315t March 2010.

Liabilities H.Ltd. S.Ltd. Assets H.Ltd, S.Ltd.
Fully paid equity shares 6,00,000 200,000 Machinery 3,90.000 1,35,000
of Rs. 10 each ' Furnaiture 80,000 40,000
Generai Reserve 3,40.000 80,000 80% sharesin
Profit and Loss a/c 1,00,0060 50,000 S Ltd. at cost 3,240,000 -
Creditors 70,000 35,000 Stock 1,80,000 1,20,000
Debtors 50,000 30,000
Cash at Bank 70,000 50,000
11,10,0600 3,75,000 11,10,000 3,75,000

Following additional information is provided to you.

(a)

{(b)

(c)

Profit and Loss Account of 8§ Ltd. stoed at Rs. 30,000 on 1%t April 2009 whereas Genera
Reserve has remained unchanged since that date.

H Ltd. acquired 80% shares in S Ltd. on 15t October 2009 for Rs. 3,40,000 as mentione:
above. _ '

Included in Debtors of S Ltd. is a sum of Rs. 10,000 due from H Ltd. for goods sold at :
Profit of 25% on cost price till 31st March 2010 only one half of the goods had been solc
while the remaining goods were lying in the godowns of H Ltd. as on that date. You ar«
required to prepare a consclidated Balance Sheet as at 31-3-2010. Show all calculation:

clearly.

31.3.2010 38 H 9. 208ty 70 5a3ye8 S . @oo); e essjpe Sedev Boh dgor Hya.

90100 H.8. 5.9 STV H.&. S.9.
Se8eed Treren 18 857,10 6,00,000 200,000 aLOETeD 3,90,000 1,35,000
Fpees Batlg 3,40,000 80,000 $8)H 80,000 40,000
er3s dape Ao 1,00,000 60,000 S9. S
ARt AL IOV 70,000 35,000 80% TreJcen 3,40,000 -
DK 1,80,000 1,20,000
avnyded - 50,000 30,000
TPROS” BKE 70,000 50,000
11,10,000 3,75,000 11,10,000 3,75,000

DD VdITEo :

(a)
(b)

fe)

1.4.2009% S &, &g Vape e dog 63°.30,00000m HHB. T FErses BatigS’ Aty B,
1.10.2009% H &. 80% Trero®y 65°.3,40,00000 §70R 00 B08.

S 9. aesteS® H & 9 el P 0ayd 85°.10,00000 28 Sow. ebyste a;ecia P 25%
ergind’ 880050, H §. 31.3.2010 o638 30 S6H& DBy 038, 20R95 380 H &,
REHS® 58D HYB. D IdTe DFaHod’ 31.3.2010 3§ H8KB e} epe 30 Bar:
dapod. ' :
2 (3211-A)



UNIT 11
What are the advantages and disadvantages of the Double Account System?
208 P°B°-JP°0O0 d:bo-gb PEIrETres 8050 S8ABve Bayydw.
Or

Bright Electricity Ltd. earned a profit of Rs. 26,95,000 for the year ended 315 March 2010
after debenture interest at 14% on Rs. 5,00,000. Calculate the reasonable return after taking
into consideration the following also.

Rs.
Fixed assets (original cost) 2,00,00,000
Formation and other expenses 10,00,000
Monthly average of current assets (net) 50,00,000
Reserve fund (represented by 8% Govt. Securitigs) 20,00,000
'Contingencies reserve investments 5,00,000
Loan from Electricity Board 30,00,000
Total depreciation fixec_l assets written off to date 40,00,000
Tariffs and dividends control reserve 1,00,000
Security deposits received from customers 4,00,000

Assume the bank rate to be 10%
B85 20828 d20E T 31.3.20108° 08D DoNHTNE 81°.26,95,000 ergio HoFBOITE
$5°.5,00,000 &Bodg P 14% Jpd z’aé JPoDS Bog® Fe ergio WROCB. BIOH eoFo
3835’08 BRoKI0E D00,

5.
ede0 S8 E‘Jq"@w _ 2,00,00,000
o0d SH B0t P 10,00,000
DEY (s esiven (DeHB JKew) 50,00,000
80% (g Depewd DI Bastg Pock 20,00,000
efodus Bastag 'be\BaJéJw 5,00,000
J0,80e 5% So0d S0 a0 | 30,00,000
BRI Sosto HBH JoRep 8 BY BEHGe IV 40,00,000
8w GOT0L DAOES 6&3835 1,00,000
TB TS 5008 AGEB0DD DETBe ey 4,006,000

25080 Bewd 10% groooed.

3 (3211-A)



11.

13

UNIT III
Explain the various methods of inflation accounting.

155%en® T odoR 206 SPBD> sHBoHHL.

Or

Balance sheet as at 1.4.2009.
Liabilities Rs. Assets Bs.

Sharecapital 5,00.000 Plant 5,00,000

During the year whole sale index has gone up by 10% on 31.3.2010 the replacement cost o
the plant was Rs. 6,50,000 it is supposed further that the plant is sold for Rs. 7,50,000 you
are required to prepare the financial statements for the year ending 31.3.2010 under the
following approaches.

{a) Historical cost accounting.
(b) Current purchasing power accounting.

(¢) Current cost accounting.

1.4.2009 oreh e eope Hed

Shpen o, ey A,
T TVPR0  5,00,000 o 5,00,000

Ro38Y8 sm00d” 5% whySo B 10% WBR0S. 31.3.2010 3 Zroen PIGHFDD devd
63°.6,50,000 ©00& ot o350 Jevd 81°.7,50,000e0r 880020638, 31.3.2010 e38 S0k

S50 o 3% IDBFOD B Dokod.
(a) TBEES D00 T owdofR 25H0 aigee.
(b) Pr® E0R%en 8dseto wegoe (CPPA)

(©) (SR8 D500 ©T 0edoR oevo e

UNIT IV
What do you mean by liquidation of a comf)any? Describe the different modes of winding up.
DBRRIY BIMR? DA BB DBI2H o K8y 5803w,
Or

4 (3211-A)



14.

Shri Srinadh is appointed liquidator of Sun company limited involuntary liquidation on
1st July 2010 following balances are extracted from the books on that date.

Balance sheet

Liabilities Rs. Assets Rs.
24,000 shares Rs. 5 each 1,20,000 Machinery 45,000
Reserve for bed debts 15,000 l.easehold properties 60,000
Debentures 75,000 Stock 1,500
Bank O.D 27,000 Book debts 90,000
Liabilities for purchases 30,000 Investments 9,000
Calls-in-arrear 7,500
"Cash in hand 1,500
Pand L a/c 52,600
2,67,000 2,67,000

You are required to prepare a statement of affairs to be submitted in the meeting of creditors
following assets are valued as under.

Machinery Rs. 90,000 lease hold property Rs. 1,092,000 investments Rs. 6,000. Stock
Rs. 3,000. Bad debts are Rs. 3,000 and doubtful debts Rs.6,000 which are estimated to realise
Rs.3,000 the bank overdraft is secured by deposit of title deeds of leasehold properties
preferentiu: creditors are Rs. 1,500 Telephone rent outstanding in- Rs.120.

2B 1, 20105 W55y TS HBIE,T 08 5O 50D &, H Fd ST DADODSVATE.
3 3D BIOD degen Hond PHIsTe Hod DoyrodudTrawn. '

) e éeg
&3y bl e5:00e) &8,
24,000 Treren &5 S 120,000 apsomren 45,000
or0 erde Doz 15,000 zrengrd estgen 60,000
&0y 75,000 x5 1,500
eyt £5BEg 27,000 gseapioen 90,000
SR0R%G) 2 DdoTdyo8 130,000 Deygeacies 9,000
| De0PHS’ wsronen 7,500
386° HK 1,500
ergs 50 T 52,500

5 (3211-A)



16.

2006090 IDTDI0S S80I S Sgore TRHE HOSTE DAtnb,

doren &°.90,000 b edgen 85°.1,09.000 :)&83)&)0) 83°.6,000 50 &°.3,000 IO
BOBT® Kepdd. O°D exden 83°.3,000 Bogaireny een 85°.6,00006° 85°.3,00000 S5T°e) 8T 00D
0007 T estoer BSereiy g0t 0.D. 00 RgpERnns. ef8gd awemdes 871,500
Doy BOS 0 8,120, |

UNIT V
Discuss briefly the important approacﬂes to the valuation of human resource.

HIHD DHHOH ArergosHd SAHEDE G JPD grades Krly Beyod.

Cr

Explain the following :

8o 208 T70D DHBovod:

(a) State the Limitations of C.C.A.
C.C.A. 388 @y, S82:8000.

(b) What is cost of control?
DALOBE POED WD
(c) What is minority interest?

€9e)) K)oar§§ TOLTIEIO) eaég.

6 (3211-A)



(3211-B)

IIT1 YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Commerce
'MANAGEMENT ACCOUNTING
(Regulation 2010-2011)
"Time : Three hours ' Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

1. Explain the scope of management accounting.

DYGTer 9T 0edoh HBHD HBBoBBw.

o

What are the limitations of financial statement analysis?

&sgg T :)'éf.{ea JB0Be0 DHBoDO[BW.

3. Importance of capital budgeting.
[T SN mge?)oﬁ [ReS08)58.

4. What are the limitations of ratic analysis?
DS e SO2BoRN.
5. Any five differences between Funds flow and Cash flow statement.

DO (ST DIBE HoBO HE D ABHE D)5y P D Bgren.
6. Role of Management Accountant.

- 8sEre @8toedof .

SECTION B — (5 x 10 = 50 marks)

Answer FIVE of the following questions selecting ONE question from each Unit.

Each question carry 10 marks.

UNIT 1

=1

Distinguish between management accounting and cost accounting.

DBGEPEs 9T 020R - S@ eZ°0e3oR 208 Bpren 9980505,
Or

8.  What are the functions and duties of management accountant?

QBGTEs 85083065 DEren B ergsgen DIBODD.



9.

10.

UNIT II

From the following information prepare comparative income statement for the years 201

and 2012,

Particulérs

Net sales

Cost of goods sold

Administrative Exp

Selling Exp
Interest paid

Income tax

2011 2012
(Rs. 000) (Rs. 000)
785 900

450 500

70 72

80 90

25 30

70 80

208 23500 009 2011 BBt 2012 Bon Boomriys erab FHAE BALE DB :

From the following balance sheet prepare common size balance for the years 2014, 2015,

Liabi lities

Capital
Reserve fund
Sinking fund
Debentures
Creditors

Other liabilities

2015
(Rs.)

390
156
250
250
1,400
345

105

2,755

HER0eD 2011 2012
(Er.0000  (872.0007)
DES eaé.)és"m 785 900
@YD DV Byabo et ¢ 0
S8roRe PIHe 70 72
eaa’:oé§o Q}&JDGD 80 90
D00 DG 25 30
TaD By oy g0
Or
2014 2015 Assets 2014
{Rs.) (Rs.) -{Rs.)
1,000 1,200 Debtors 450
590 635 Cash 200
90 100 Stock 320
450 650 Investments 300
200 150 Buildings 800
15 20 Land 198
Furniture 77
2,345 2,755 2,345
2

(3211-B)



Bo8 esd) epe Sede 20D 2014, 2015 Bon $30 S8 e esd) Opo He§ BALEH Bk,

5 2014 2015 2014 2015

e CONINCOS g @) ()
DATPOEHO 1,000 1,200 2wogafoen 450 390
Bastng 590 635 , O 200 15
DES 0O | 90 100 S 320 250
EBoDE 450 650 Deyeden 300 250
BO0EITTEHED | 200 150 &a7ren 800 1,400
2GS Ojpe 15 20 5 198 345
588 77 105

2,345 2,755 2,345 2,755

UNIT L

11. The following is the Balance sheet of a limited company on 31 Mareh 20 16.

Liabilities . Rs. Assets Rs.
Share capital 2,00,000 Land and buildings 1,40,000
Profit / loss ale 30,000 Flant and machinery 3,560,000
General reserve 40,000 Stock 2,00,000
12% debentures 4,203000 Sundry debtors 1,00,000
Sundry creditors 1,00,000 Bills receivable 10,000
Bills payable 50,000 Cash at bank 40,000

8,40,000 8,40,000

Calculate :

{a) Current ratio

(b))  Quick ratio

(¢) Debt equity ratio
(d) Proprietary ratio

(e) Inventory to working capital.
3 (3211-B)



31 55°8) 2016 T34 2.8 HHE Kod e eJpe H¢.

esdpen ar. SISAEY R T

T DATPOEHO 2,00,000 #5ri, 5Te0 1,40,000

o~ dipo T 30,000 roew, AboB e 3,50,000

AgSes Besdas 40,000 IEKH 2,00,000 -

12% &BoBE 4,20,000 DTE w00 1,00,000

DEEY) VB 1,00,000 33re0 Degen 10,000

290 Venen 50,000 ergofHS” DA 40,000
8,40,000 8,40,000

E0fTH04 :
(@) SRB 28
(b)) 3o RSB
(©) @y Seded D@
) armsrRgd) 0D
()  DBrEs MreST 08 ¥zl
Or

From the following information prepare a summarized balance sheet.
Working capital — Rs. 1,20,000
Reserves and surplus — Rs. 80,000

Rs. 20,000
Fixed assets to proprietary funds - 0.75

Bank overdraft

Current ratio , ~ 25

. Lagquid ratio - 1.5.

1808 RAFTEHNE ST 65 @pe D¢ AT Badw ;
DELTER TSR0 - &30, 1,20,000
Bastogen 2Bdin DHHEY - &3°. 80,000
25080 E..;‘)Slcz@ ~ &e. 20,000
émv".oqgwé; aireesiI iy RG0e) - 0.75
SR08 D3d - 25
S558s DS - 1.5,

4 . (3211-B)



UNIT 1V

13. From the following balance sheet of XYZ Ltd prepare funds flow statement.

Liabilities Dec 31 Dec 31 Assets
2011 2012
Share capital | 70,000 74,000 Cash
Debentures 12,000 6,000 Debtors
Reserve for déubtful debts 700 800 Stock
Trade creditors _ 10,360 11,840 Land
* Profit/loss alc 10,040 10,560 Goodwill

1,03,100  1,03,200

Additional information :
(a) Dividend paid - Rs. 3,500

(b} During the year land was purchased Rs. 10,000.

XYZ &. e - o3po 3¢ 2009 Do (Harde DR Sl Do,

epeo Dec 31 Dec 31 | eﬂ@w
2011 2012
CACMSSECTANIY 70,000 74,000 PR
EBoBH | 12,000 6,000 @EayfRen
o0 2rde Basii | 700 800 NEH
YL wngIcTBen 10,360 11,840 4
o2 dpe PB° 10,040 10,560 &3S

1,03,100  1,03,200

SEH BEITBH :
@) QoS EdBOL - 8I.3,500.

(b) e Hond® grns SR - §7°.10,000.

Or

5

Dec 31 Dec 31
- 2011 2012
9 000 7,800
14,900 17,700
49,200 42 700
20,000 30,000
10,000 3,000
1,03,100 1,03,200
Dec 31 Dec 31
2011 2012
9,000 7,800
14,900 17,700
49,200 42,700
20,000 30,000
10,000 5,000
1,03,100 1,03,200
(3211-B)



14,

From the following balance sheet of a company prepare cash flow statement.

Liabilities 2015 2016 Assets 2015 2016

(Rs) (Rs.) {Rs.) (Rs.)
Share capital 20,000 25,000 Land and 20,000 19,000

buildings
General reserve 5,000 6,000 Plant 15,000 17,400
Profit/loss a/c 3,050 3,060 Stock 10,000 7,400
Loan from bank (short term) 7,000 ~ Sundry debtors 8,000 6,420
Sundry creditors 15,000 13,520 Cash in hand 50 60
Provision for tax 3,000 3,500 Cash at bank - 800
53,050 51,080 53,050 51,080
o8 a2y 28 Ko e eBpe Se Mol HAK T TABERL S Soswd.

epeo 2015 2016 8‘%)& 2015 2016

(&) (o) () (B
e S50 20,000 25,000 g5, Haren 20,000 19,000
aeises Besting 5,000 6,000 3.0, 15,000 17,400
o2 Hape o 3,050 3,060 wxx, 10,000 7,400
2oty ey (J5e)0) 7,000 < aineau"(:gw 8,000 6,420
DS 2B 15,000 13,520 30655 5K 50 60
:Jé-a@g bU‘D&)o 3,000 3,500 95"503'.)856 5K - 800
' 53,050 51,080 53,050 51,080

UNIT V

From the foliowing particulars calculate payback period.
Project cost — Rs. 1,20,000
Project period — 5 years
Net cash flow before depreciation and tax is as follows.
Year I I {11 Iv A%
Cash flow 30,000 40,000 35,000 45,000 50,000
Tax rate — 25%. Calculate depreciation on project under straight line method.

Eo8 ddore od BOR Y0P e IHRD EHRHoHw.
B B500 — &5°.1,20,000.
a8 sPe0 - 5 Dot
BEOBY, DIRK 0% VEY KL (Fa7ro 1§08 dormr amd :
Aol 1 il IIt 4Y \Y%
ARG Pavro 30,000 40,000 35,000 45,000 50,000
QY Bew - 25% DY By :ag@é" (B P BB EI0R306.

Or
6

(3211-B)



16.

A firm whose cost of capital is 10% is considering two mutually exclusive projects A and B.

The cash flows of which are as below.

Year Project A
(Rs)
0 - 50,000
1 62,500

Suggest which project should be taken by using.
(a) Net Present Value method (NPV).
{b} The Internal Rate of Return (IRR).

Project B

(Rs.)
— 80,000
96,170

2.8 50§ Bk, IO HHo 10% gPdod A 208ai0 B @ Both DERO I B §ob

Jedore aago,u :

ol P85 A
(&)

0 - 50,000
1 62,500

208 Dotk SFwed® I (FBY ergrorabEay ¢
(a)  O¥5 |57y dend 338 (NPV).

(b)) eoss ad Bew (IRR).

=85 B
(&)

~ 80,000

96,170

(3211-B)
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II1 YEAR U.G. INSTANT EXAMINATIONS JUNE 2017.
Part II — Chemistry
INORGANIC, ORGANIC AND PHYSICAL CHEMISTRY
(Regulation 2010-2011)
Time : Three hours ‘ Maximum : 100 marks
SECTION A — (5 x 12 = 60 marks)
Answer ALL questions.

Each question carries 12 marks.

1. (a) Discuss the stereo Isomerism exhibited by octahedral complexes.
TGS SoBiren HEGoW (B FayEsing 25805500,

Or

fb) (1)  Explain the factors which effect the stability of complexes.
Bofape VBBV @HeraBhn Db eosHnen 5808w,
(i1) Explain Job’s method for determination of composition of complexes.

e S Tgo° VOB SOFWIADD ey EWAREY?

ro

{(a) (1) Explain any three methods for the preparation of Amines.
D000 BALEE) DLW DD DA E’Jgéﬁow [Ee VYOO R
(11} Nef reaction and Mannich reaction,
R D DBasw 308 B8y

Or
{b) (i) Any three electrophilic substitution reactions of Furan.
TS @), B0 e o5 008 dESe B,

(i) Explain the reason why the substitution occurs only at 2% carbon in Hetero cyclic
compounds.

D28 Hoah FARUBBOS Bodkd S HED 198ESE JoBL B,



6.

(a)

(b)

(a)

(b)

(a)

(b)

Explain any two methods for the preparation of Furan, Pyrrole and Thiophene.

TS, BE'S 8akw GOPS S Bk S Bodky Bigthoes A,

Or
Discuss the structure of Fructose.
P58 k), KSR 9HBoBHL.
Explain bimolecular Collision theory.

D HTS 3}6};0&5&‘.035‘1) 295805050,

Explain Carnot cvcle.
SO7)ed JodHBWR HB5BoBIBL.
(1) Zwitter lon,
290335 AT,
(1i) Write any three methods for the preparation of amino acids.
e5ap* esayre) SALE) Bothve D80 B S58es FrRaBD.
Or
(1)  Basicity of Amines.
QDB TEHBID.
(11) Carbyl amine reaction,’
5O A B

SECTION B — (8 x 5 = 40 marks)

Answer any EIGHT questions.

Write the IUPAC name of K,[Fe(CN),] and [Ni(NH,),]Cl,.

K, [Fe(CN)g | $08c50 [Ni(NH,)4]CLy. Gy, TUPAC S @raiuso,

Explain the crystal field splitting for tetrahedral complexes.

Berared ogghne a8 B sen 2980w

LExplain outer orbital complexes.

i &BSDGJ"GS POBRRVOR DHBOBIKW.

(3312-3)



10.

11

13.

16.

17.

18.

19.

Calculate EAM for [Fe(CO),] and [CONH,), [

[Fe(CO), | 5080s [CONNH,) By, EAM $208050.

Explain the electronic transition of [Ti(HQO)SP* lon spectrum.

[TiH,0), [ eairzy 355006 DB DBHBHH0 DBBOBIBW.

Write a short note on Peptides.

b%&mm HIe8)y oomRgR)y EPOVB.

Explain the aromaticity of Hetero cyclic compounds.

DerAAD Seah :ﬁ»&amm 35557632630 9580505,

Write the converston of Fructose to Glucose.

(95 2R ArEtarne deay $5935).

Explain the structure of Pyridine.

2885 358D 580B080.

Explain Heinsberg method for the separation of Amines.

PRR] SEB oo JRHOR e DWSEDEH?

Discuss the photo chemistry of H, and Cl,.

H, 58050 Cl, 5105000 35a 9580508

Explain fluorescence with examples,

RS BHD eomrond” 3580803,

Discuss Internal energy and enthalpy.

@085 $§ 208030 Jogrd)Ro DBBoHIB.

Explain Joule Thomson effect.

TS 55700 (SRR 2DBowB.

Define order and molecularity.

[E30P0880 S8t B By HBB0WRW.

(3312-3)
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IIT YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017,
Part II -~ Botany

PHYSIOLOGY, TISSUE CULTURE, BIOTECHNOLOGY, SEED TECHNOLOGY AND
HORTICULTURE ‘

(Regulation 2010-2011)

Time : Three hours Maximum : 100 marks
SECTION A — (5 x 5 = 25 marks)
Write short answer on any FIVE of the following.

1. Osmosis,

SRR, (e0R)

to

Trace elements,

1830 Soreste.

3. Fermentation.
Seagrodn.

1. Biological nitrogen fixation.
% Dowo H|Besd LR,

3. Culture media.
Eﬁgé QITRHERL.

6. Artificial seeds.
510 BT,

:=‘I

Seed testing.
D8 505,

8. Seed banks.
X)e__ﬁc‘b aj"?soé)e)o.

9, Landscaping.
@o&%bfboﬁ.

10.  Gralting.
esoe.néeégcso.



11.

13.

(a)

(b)

(a)

(b)

(a)

(a)

(b)

SECTION B — (5 x 15 = 75 marks)

Answer ALL questions.
UNITI

Write about various theories in Mineral Salt Absorption.

PRes oD §0eS” 296 VEToBIW 4B FraE).

Or
Explain C, éycle and compare it to the C, cycle.

- C, Docdhdw ednddd C; Hoardd C, Hodimdd Sy eyod.

UNIT II
Describe Kreb's cycle,
Be)y HoaLHuR A8y Erati.
Or
Write an essay on Auxins.
e8)Se Hrd)y 28 s Fraud.
UNIT III

What is tissue culture? Write about the procedure of tissue culture of plants.

Seaeme HYOHO eHTR? Eeaere HGD BB 5°8) 2.5 TR0 @rakch.

Or
Explain Recombinant DNA technology.

r-DNA 0888 H0°°R) J580w%0G.

UNIT IV
What is seed Dormancy? Describe in detail about the reasons for seed dormancy and

methods to break dormancy.

DED ROTBZ SHTAD? DIHIL Mo 25T TV DE°FoD e K8 Fraind.

Or
What 1s genetic erosion? Write about various reasons for genetic erosion and measures

to prevent it.

2:063E RE*RS edmdn? o3k astaSH Ko sederen, orOD dB80d Sgee K6 [Pk,

2 (3301-4)



{a)

(b)

UNIT V

Write an essay on Bonsal culture and its methodds.

Smol> 55500 ©ITRAN? Fndd KD HEBe KrB) 2 THOKW A,

Or

Write the role of plant-growth regulators in horticuliure.

SGEeybS® g0 9B vavose B 1°8) 380H0d.

(3301-4)



(3306~-3 M)

III YEAR U.G. INSTANT EXAMINATIONS JUNE 2017.
Part IT — Physics ‘
ELECTRICITY, MAGNETISM AND ELECTRONICS
- (Regulation 2010-2011)

Time : Three hours Maximum : 100 marks

Lo

| (a)

(b)

(a)

(b)

(a)

(b

SECTION A — (4 x 15 = 60 marks)
Answer ALL guestions.
State and prove Gauss theorem in electrostatics,

QB DERSS” ™ derowr) BY), dErdoBod.
= ]

Or

Define D, E and P. Establish the relation between I, E and P. Also deduce the relation
between dielectric constant and susceptibility.

D, E $8an P o digdososn w8 55 Som05n0 somBotosn S8ty 5°¢Y
ROOEH0HD, SuPBIO D65 VoROERVI TePI).

What 1s magnetic shell? Deduce an expression for the potential at any point due to a
magnetic shell;

0,08 EHERN SHMTAWN? wchnm0s S85E0 Hg IPT Doty DY JEBPCHSLH
SaTSHw somBodod,
Or

What is self inductance? Define coefficient of self induction and obtain an expression for
self inductance of a solenoid.

BLO00 (HEBBEH0 BIMI? JEANIO (DSBS KETRY ALLDOHHL ABTans Bs), Jgao
(DEEBEHDHLD SREBE0 &BBoBIIW.

Derive expressions for the growth and decay uf charge in (-R circuit containing
constant e.m.f.

D8 2cTNOE w0 5§D IFVS-05GIN Doabind® eBIDENOSe Ens Sararen
O280G.

Or
Describe Hertz experiment for the production and detection of electroinagnetic waves.

DERBA0P BorreRy W, BT Tor IO IHEK? Ddor §65 Jant?



=1

10.

11.

(a) Give the general theory of feedback and explain Barkhausen criterion for oscillations.
DOGBEDB0 KBy 95B0H0E 380 ElevBnetd Houofod e8RS 25B0YIw.

Or

(b) Draw the diagrams for AND, OR and NOT gates using discrete components. Explain
their working with truth tables.

DD reseRy &S@rAod AND, OR HBoin NOT Agsw Adodw pord &ad
&5BTR0O 08 SIBK JFRREY I3B0HE. |

SECTION B — (5 x 4 = 20 marks)
Answer any FIVE of the following questions.

Explain briefly about equipotential surfaces.

B2E5H FBHALS Bere A8y Ko IBBoHH0.

Derive an expression for the energy stored in a capacitor.
3-He86" Deg dodk $88 HHIHEN craenSw.

Define {a) magnetic permeability (b) magnetic susceptibility and derive the relation between
relative permeability and susceptibility.

(a) @alA0H HBIHBOS (b) waim,0s Shpnddety D90, B6H DHALVOS BB

SRRBOBe D455 Sowogo TPReRDHD.

Define Hall effect and write its applications.

FS HOBHVK DY, TV WROIGT R [DPALVDW.

Distinguish between L-C-R series and parallél resonarnce circuits,

L-C-R B3 208050 DH5°088 @komre HoasTen %y,

Write the basic laws of electricity and magnetism.

D85S BoBOLN BALIY,0BES TP O J0WOHODDH EHEE IIEEOR FEPADY.
Write a short note on zener diode.

95 SATE Al oBedE Erotusw.

Write the truth tables for half adder and full adder.

Half adder 5:8a50 full adder S8558%02 @mabod,
| 2 (3306-3 M)



13.

14.

16.

18.

SECTION C — (5 x 4 = 20 marks)

Answer any FIVE of the following questions.

The electric susceptibility of a material is 36x107"°C*N -m®. Calculate the value of
dielectric constant and absolute permittivity of the material. [e,= 9% 107" F/m|

28 Soego Deogd 30000 36 %1077 CYN - m”. e 5% Borossw MBaso Sog HEes0esD
He8oH0&. [eo= 91072 F/m]

Calculate the energy stored in a spherical capacitor of 2 m radius charged to a potential of
3000 Volt.
2 m T80 o 2 Fovsd 3dded 9 3000 Volt o-89ahd eddso 3D deg dod 33

a

Q07

An infinitely long conductor carries a current of 100 mA. Find the magnetic field at a point
10 em away from it.

28 ©Ho% eciared UKo 100 mA 5306w BPRUBWOB. TR od 10 0.8 SIE0S* eahdm, ol

3‘{_@"(‘0& Smgsb_o&, .

Two coils, a primary of 600 turns and a secondary of 30 turns are wound on an iron ring of
mean radius 0.1 m and cross-section 4 x10° m®. Find the mutual inductance. { 4, for iron is

800).

0.1 m Jren TErgdo 2B 4x107° m? EENG Prrego Ko el arwd Sofenn K 3o
sPoe)) 600 Wew Ao @rEWE DBaln 30 Boew fo Ao wgen Dgaddd. T8 eI
(D5 5ADR0 SRR, (B8R 4, 800).

What is the power factor of a cireuit containing a coil of resistance 30 Q and reactance of
30 ohim? What is the phase difference between voltage and current?

30 2 26%s5%, 30 ohm © 80?53553 &K oy 38 5680 JoB? & Hoahods® SGE*_;W So8ahy ¥doewe

206 BRISD0B?

Relative perniittivity of distilled water is 100. Calculate its refractive index and propagation
velocity of e.m. waves through it.

D3 668 Joros 100, 8y foge BAmEdy em. BBorre Gy, FED Hesin, rdw

8208704,

3 (3306-3 M)



19.

20.

The d.c. current gain of a transistor in common emitter configuration is 100. Find the d.c.
current in common base configuration.

&38 GETSY DTG0S” &Ry 28 PIRYZG B, de. PTE HB 100 &3y eers d3%30S" T
d.c. @TEPED B, 00050.

Convert binary numbers (10011), and (1111}, to decimal number.

(10011), 208af0 (1111}, &3¢ ROYPLO G QO DI L.

4 ' (3306-3 M)



(3306-4 M)

[II YEAR U.G. INSTANT EXAMINATION, JUNE 2017,
Part Il — _Physics
MODERN PHYSICS

(Regulation 2010-2011)

Time : Three hours Maximum : 100 marks

{a)

(b)

{a)

(b}

(a)

(b)

SECTION A — (4 x.15 = 60 marks)

Answer ALL the questions.

Describe vector atom model. Explain briefly the quantum numbers associated with this
model.

S8gn 968 FArRD SPodod. 58 $02080dD 3G TR0k Jowsiy Sofgor H9Bodod,
Or

What is Raman effect? Explain. Describe the experimental setup to study Raman effect

in liquid.

P00 $OBAL BITAD? IHBOH. |BDSWS° P00 OB 630D (PDBIK edoBERL

D80,

State and explain Heisenberg's uncertainty relation. INlustrate this relation with y -ray

microscope experiment.
radnf edyBeg DALHHLH DgHoD JDBoHRW. BAE swrrsn MR 88t JrHAGD

(PATRDDR &S8R0,
Or

Derive Schroedinger time dependent and time independent wave equations.
SO0 STESE 8010 500 SEEItd |R8G0ND DEsETORD P26,

What is nuclear binding energy? Draw a binding energy curve. What information do we
get from such a curve?

ZopisE 20GH ¥8 BITR? wog B8 Hi¥o AD, 70 008 D03 ISFTHo rosieSt

DHBoHB0.
' Or

.Explain the principle and working of Geiger-Muller counter.

A8 2008 Aestnn e ArEHw, SV dETHRVH DBBHBL.



=1

9.

10.

il

(a) Explain the top-down and bottom-up approaches in the fabrication of nanomaterials.
Explain ball-milling method also.

TR DTerRnG™0 piood Bosth WBa Bos Mod P SRHHW> HPBOR sDBoYHIL.

wr& 2090 HYBD Lrae 2HBoYHHL.

Or
{b) What are magnetic domains? Explain Weiss theory of ferromagnetism.

00,08 EROes ®0o8) A20e3? B waLI,of BIDE IO REToEeR) HHBOYIN.
SECTION B — (5 x 4 = 20 marks)

Answer any FIVE questions.

What is Zeeman effect? Explain.

2505 $OBBL HTPRI? IDBOHRW.

Fxplain how the internuclear distance in a molecule can be estimated.

BE0YS” ©oBY Bo8E Ereed) Ker 886" 2HBoDR.

Write the properties of matter waves.

(6595 BBOKB0 oD @REHVRD.

Give the physical significance of wave function.

BEOK (FCHZ0BHE Ko Franagdin Beyod.

Explain magic numbers.

;‘1)“’5&“95 Jopgo 2580306,

Write a note on Geiger-Nuttal law.

BAB-R00S DaHBI0Y o 3 @robod.

Write a short note en Miller indices.

2008 Arasroshnes K809 o B8 FRasuB.

txplain Bragg's law.

@R DALHTY) dHBoHIW.

[ Q]

(3306-4 M)



18.

19.

20.

SECTION C — (5 x 4 = 20 marks)
Answer any FIVE questions.

The wavelength of sodium D, line is 5900 A. Caleculate the difference in energy levels
involved 1n the emission or absorption of the line,
AGaoo D, O ééor‘@géo 5900 A. loNe 85 5755 B Bk, ‘é’_§p %vonen B0 AdoBod.

A sample was excited by the 4358 A line of mercury. A Raman line was observed at 4447 A

Caleulate the Raman shift in em ™.

28 IR EERH0HEH BoBD 4358 A oIS’ adMo Ity TES B9 4447 A 38
£2)008, o30S dPSHHND em ™! 0 B 0mBw.

What would be the wavelength of quantum of radiant energy emitted, if an electron
transmitted into radiation and converted into one quantum?

DEBE30M (HR0BN DO 2.8 POt ST BEHED, SERSN BOOM PEIOB?

A microscope is used to locate an electron in an atom to within a distance of 0.2 A. Calculate
the uncertainty in the momentum of the electron located in this way.

28 Ssare0pSt 02 A Sroind® &%) JoTwoRn HBonas dry G600 &5@rRoT.
SO0 9DBNBBI0087?

What is tiie mass number A of nucleus whose radius r =2.71 fermi? Given r, =1.3x107" m.

Bo|88 Tgrgo r=2.71 PG Mo |BDgT°3 HSoglg A & §Fﬁ)§£b0c?n. 7o =13x10"" m e a%g@ddd.

A neuiron breaks intc a proton and an electron. Calculate the energy produced in this
reaction. Mass of an electron = 9x107% kg, Mass of proton = 1.6725x107 kg. Mass of

neutron = 1.6747x10™%" kg. Speed of Light = 3x 10® m/sec .
2.8 ATgers, (P60 2080k JOTANT DN IoLO. K1 IS’ &&BAH0 80 Aedodod. Joge

&5350°8 = 9x107°! ke, e (595078 = 1.6725x 1077 kg, Argers (5078 = 1.6747 %107 kg.

5708 250 = 3x10° misec.

.

X-rays of wavelength 1.54 A are diffracted by a crystal with the first maximum occuring at
11°. What is the separation between the lattice planar?

16350 2008 1.54 A B50K P50 SORD ocsed @e3 X-8eren 11°. E%m0 2580 Doad 7)eEos™d
SERTER D0 D03y BTG ERRHIE.

The transition temperature for lead is 7.2 K. However, it loses the super cenducting property
if subjected to a magnetic field of 3.3x10" A/m. Find the value of B,(0) which will allow the

mectal to retain its superconductivity at 5 K.
D30 VoEes P 7.2 K. ordp  3.3x10% A/m edhimos Eo S0dckue Dy eFTuirsego

§°Shm08. 5 K 58 ©8 S6A edriogRy 2088 B (0) 2esd J08?

3 “ (3306-4 M)



6.

"-}

9.

10.

1.

PART B — (5 x 5 = 25 marks)

Answer any FIVE of the following.

Types of digestion
G 80h Ssven,
Tachyeardia and Bradyeardia.
PSP T LBk @ SR,
Counter current theory
DS (D ?ocgc:éo.
Synaptic transmission,
30800 wdTES.
Pituitary gland.
Soreno8.
Homeostasis,
POSVLALICIY B
& G
Human Karvotype.
A3 FRArE e absses ($g5e3%)
Isolation and migration.

DHES DB Je.

(3308-3)

(3308--3)

1 YEAR U.G. INSTANT EXAMINATIONS

JUNE 2017,

Part 11 — Zoology

ANIMAL PHYSIOLOGY, GENETICS, EVOLUTION

AND Z00GEOGRAPHY

{Regulation 2010 - 11)

Time : Three hours Maximum : 100 marks

Answer ALL questions.

Nole : Praw ncat and labeled diagrams

I {a)

(b)

wherever necessary.
PART A - (5 x 15 =75 marks)
UNIT1

Write an essav on transport of Oz and CO»..
0 BBcin CO: Tohoge IFerp :J"ééo
EPOI0.

Or

Deseribe the structure of mammalian heart
and it's working mechanism.

8860 @Bwg); IMEcH doyeo SBakn SODA%H
ASFOBE Do DNBotudu.



(a)

(b)

(a)

(b)

UNIT II

Describe the structure of mammalian kidney
and it's functions.

550 Ging, JorEdoto AoywORe BB
IDBAEN G0, DHBOVBW.

Or
Give ‘an account of shiding filament
mechanism of musele contraction.

}ééoﬁ POD0LS Airodio TRT® Yokl Ho§%
SRS D3B0BH0.

UNIT 111

What is action potential? Explain the action
potential conduction.

BoirsgEn  odrd?  BolrRy  oRrEs®
DHBoWBW.

Or
Write an essay on osmorcgulation in aquatic
organisms. '
B0BY B398 dLoS |SIPHSH [FE6 KHBod

EUSUCHTVLeVIVAALE

2 (3308-3)

(a)

{b)

(a)

{b)

UNIT IV

Give an account of DNA as a genetic
material explained by Griffith and Harshy
and Chose experiments.

DNA R0 asog Sargore 580355008 iRad 2085w
By~ PR [PBITTOR DHBoBIw.
Or

Write an ¢ssay on autosomal and allosomal
disorders in human.

SEHRSTD  eeS’EBwe  SoBokn Doy
E2rE%00 K Tyo0 [FrosoEw.
UNIT V

Write an ¢ssay on speciation,

aB0L GHIS D THOO [EEASNDL.

Or
Describe the chimatic and faunal characters
of oriental region.

580000805 | ProB) TIEHSe Dobckn  momd

NoLod ofrred DHBoBIRW.

3 (3308-3)
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(3312-4)

III YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Chemistry
CHEMISTRY AND INDUSTRY
(Regulation 2010-2011)

Time : Three hours Maximum : 100 marks

SECTION A — (5 x 12 = 60 marks)

< Answer ALL questions.

All questions carry equal marks.

1. (a) What is paper chromatography? Write different types of paper chromatography.
D96 (E72065° 10 en0rmRgn? 9 SEne D56 ETRe hem 9960505,
Or
(b} Explain the principles and applications of TLC.

Hendd o8 (ER0ES D B Ereky 08ak eSSETrer DSB0WRND.

2, (a) Derive Lambert-Beer's law and apply it for the estimation of chromium in K9CryO .
ool B8 dEHDBLD GIHBoBIBN. TRWIBTRO KoCryOr 6% E'20050500% Jey

S5BA30DES?

Or

(b) Explain the principle of NMR spectroscopy. Explain NMR spectra for toluene,
Acétophenone and ethyl bromide.

NMR @) 4508 dr@res 9580908, %95, eSS wban 23S & By,

NMR 585eroy 9380000,

3. (a) Explain the classification of drugs based on their chemical structure and therapeutic

action.

THE 00 S00D DTYETe o H8ck TS Balr Dgedo mrgoe Jey 9856307

Or



(b)

{(a)

(b)

{a)

(hy

Write the synthesis and therapeutic action of
(i)  Chloroguin.

(i) Omeprazole.

&4 208 T3 éoﬁaea 208as0 TN 3ol 257do Bedod
(i) 6%

(i)  2ooPES

Explain the synthesis and application of

(1)  Malathion.
(1) Endrin.

&9 1808 6} VoBxies wbaiy ety Bedod
()  Srefdird

(i) dodd

Explain the green synthesis of
(i)  Diels Alder reaction.

(11} Strecker synthesis,
& (808 88 H0RAes W5 108 08
G) &) e998 55

(i) 39,6 Boses.

Explain the synthesis and applications of

(i) PVC

(i1). Nylon- 8. 6.

e (308 e HoEAes 0801 BRVDETED FPADG
(y PVC

(i) Derm - 6. 6.

Or

Discuss addition polymerization and coordination polymerization.

Do BN Hdgah SrEn8Esennetn 958080,
2

(3312-4)



:kl

10.

11.

12.

13.

14.

16.

17.

SECTION B — (8 x 5 = 40 marks)
Answer any EIGHT questions.

All questions carry equal marks.

Write a note on spin-spin coupling.

B0 yo-A0 Dz K16y EEasAL.

What is R, value? Write its significance.
R, De0d e0dredgn? oo (e Frakobu,

Explain different types of electronic transitions.

DG 55300 Jo Il VROIGTEB @I,

Explain single beam spectrophotometer.

H8%5ea 0B 9633595 EHISEY) dHBoHE.

Write the synthesis of L-Dopa.

" L-Dopa J02ies [Fainsw.

Define drug and mention the drugs derived from plants.

TAEH0R HEGHOD D0, 0% HA) TIFDwen Eravdw.

Give the formulation of ciproflaxocin.
PREEEHNS @), A BEses [FPalvRL.
Write a note on green catalyst.

B aE@)Ssod N8y Eraini.

Explain types of super conductor.

esPrEN00e SES0e 258005,

Write the preparation of endosulphon.
Do&THeTS BAirB @ravBL.
Explain meissner effect.

005 [HprHan S98owrdmn.

Write the advantages of green chemistry.

BB Baroided TR &I HDve BODOC.

(3312-4)
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18.

19.

Explain the properties of nanomaterials.

S e Sued Erobod.

Explain Aldol condensation by green synthesis.

T8 BoRes o eserd $0R0RHRL DBBoRIRL.

Explain Zeiglar-Natta catalysis.
BReb e &B)ssvH 25BomRW.

(3312-4)



(3313-3)

IH YEAR U.G. INSTANT EXAMINATIONS,

JUNE 2017

Part 11 — Computer Seience

DATABASE MANAGEMENT SYSTEMS

Time : Three hours

(Regulation 2010 - 11)
Maximum : 100 marks

SECTION A - (10 x 2 = 20 marks)

1. Answer the following questions:
(a) What is data redundancy?
(bY Give the levels of data abstraction.
(¢)  Difference between Database and Table.
(d) Define Transaction.
(@) Define Inheritance.
() What s denormalization?
()  Detine Vicws.
(h)  What is an information system?
(1)  Define data warehouse,.
()  What are DMI: Commands?

6.

(a)

{b)
(a)

(b)

(a)

(b

(a)

(b)

(a)

()

SKCTION B - (5 % 16 = 80 marks)
Answer the following questions.
Explain about the evolution of data models,
Or
Explain about relational sctl operators.
Explain about EXRM.
Or
Define  Normalization?  Explain  with
exampies,
Explain System Development Life Cycle.
Or

Explain DDL. and DM, commands with
example.

Explain Database recovery management.
Or

What is a dead lock? What are basic
Techniques to contro! dead tocks?

Explain about star schema,

Or

Explain about data mining.

2 (3313-3)



(3313-4WT)

HTYEAR ULG. INSTANT EXAMINATIONS,
JUNE 2017.

Part [ — Computer Science
WEB TECHNOLOGIES
(R_egulat,ion 2010-11)
Time : Three hours Maximum : 100 marks
SECTION A — (10 x 2 =20 mafks)-
Answer ALL questions.
L. (a) What is [nternet?
(by Define Tag.
(c) Deﬁne CSS.
(d) What is meant by operator?
(e}  What are the benefits of JavaScript?
()  Discuss about Boolean and number objects.
(g)  What 1s Active Server Page?
{(h) Write about the XML Namespaces.
(i) What is a WebServer?

()  Write about File Transfer Protocol.



3.

(a)

{b)

()

()

(a)

(h)

(d)

SKCTION B - (5 % 16 = 80 navrks)
Answer ALL questions.

Explain about tables, by creating a sample

table for inserting student details.
Explain about formatting tags with ‘suitable
example.

Or

Thscuss the use of frames with a simple

example.

Explain the structure of HTML document
with a sample program.

Explain about property and values in siyles.

Explain ahout layers.

Or

Write

mathematical functions of JavaScript.

about  string  functions  and

Write about linking of external style sheets.

2 (3313-4WT)

[y}

{a}
(h)

(c)

(a)

®)

(c}

(a)
(b}

{c)
(d)

Faplam about data and window object.
Explain about floating togo's.
Or

Pesign a web page to open a page in new
window,

Explain different. XML schema types in
detail.

Or
Write a short notes on DTD.

Discuss about modeling a document by using
DOM.

Wrile about HTTP in detail.
Discuss about TCP/IP in detail.

Or
Write about webservers.

Discuss about telnet.

3 (3313-4WT)



18

19

20.

Classify the interrupts of 8085 microprocessor.

Discuss about slope integration A/D converter.

Write about the interfacing of seven segment LED

with microprocessor 8085.

4 (3322-3)

Time : Three houra

(3322-3)

1l YEAR U.G. INSTANT EXAMINATIONS,

JUNE 2017.

Part [T — Electronics

DIGITAL ELECTRONICS AND MICROPROCESSOR

(a)

(b}

{a)

(b)

(Regulation 2010-2011)
Maximum : 100 marks
PART A — (4 x 14 = 56 marks)

Answer ALL guestions.

Why NAND and NOR gates are called as
Universal building blocks? Explain.

Or
State and prove DeMorgan's thecorem. What

is the significance of it?

What is Demultiplexer? What is the
difference  between a  decoder and
demultiplexer?

Or

Draw and explain about working, truth table
and timing diagrams of decade counter.



G.

et |

(a) xplain  the following buses of 8085
microprocessor |

(1) Address bus
(i Data bus

(iii) Control bus.

Orv
(by Explain the instruction set of 8085
Microprocessoer,

(a) Explain 1YA conversion using binary
weighted resistor.

Or

(k) Explain the modes of 8255 and control word
register format of 8255.

PART B — (4 x 5 = 20 marks)
Answer any FOUR questions.
Write the characteristics of DT and RTL.
Write a note on Karnaugh maps.
Explain the Asynchronous counter.

Draw the circuits of full adder and give its truth
table.

2 (3322-3)

9.

10,

11

1:238

Draw  the pin configuration of 8085

IMICrORrOCessOr,

Write on assembly language program to perform
8-bit subtraction.

Draw the cireuit interface of stepper motor with

8085 microprocessor.

Briefly explain about seven segment LED.

PART C — (4 x 6 = 24 marks)

Answer any FOUR questions.
Convert binary to gray code :
(a) 1101110,
(h) 1010101111,.
Explain with examples the terms of SOP and POS.
Explain c]ocked RS flipflop with truth table.
Write a short note on multiplexer.

Describe  the register organisation of 8085
mMICroprocessor,

3 (3322-3)



Time : Three hours

|

(3322-4ES)

HI YEAR U.G. INSTANT EXAMINATIONS,

JUNE 2017.

Part IT — Electronics

EMBEDDED SYSTEMS AND APPLICATIONS

(a)

(b)

(a)

(b)

(Regulation 2010-11)

Maximum : 100 marks

- PARTA — (4 x 14=56 marks)

Answer ALL questions.

Draw the block diagram of 8051 architecture
and explain its operational features,

Or

Explain data types and directives of 8051,

Explain bow to find out largest number
among a given set of number with an
example.

Or

Write an Assembly language program to add
and to multiply two 8 bit numbers.



10,

11

(ay  lxplain interfacing of LED and switches.

Or

(b)Y Kxplain various addressing modes.

(a) Explain how to display information on a

[.C.D.
Or
(b) Briefly explain applications of .Embedded
Systems.

PART B — (4 x 5 = 20 marks)
Answer any FOUR questions.
ixplain PSW register.

Explain briefly instruction set,

Stack organization.

Fxplain 8051 ports.

Explain interrupts.
Kxplain bit manipulation.
iJistinguish between DAC and ADC.

[Explain loops in 8051 assembly language.

2 (3322-4E8S)

17.

18.

19.

20.

PART C — {1 x 6= 24 marks)
Aunswer any FOUR questions.

What 1s a flag?

What is a protocol?

What is a port terminal?

What 18 an embedded system?

What 15 a stepper motor?

Define memory.

List of different addressing modes.

What is a switch?

(3322-4ES)



(3404MC)
I YEAR U.G. INSTANT EXAMINATIONS,
JUNE 2017.
Part I
ENTREPRENEURSHIP
(Regulation 2013-14)

Trme : Three hours Maximum : 70 marks

PART A — (5 x 10 = 50 marks)

Answer any FIVE of the following selecting One from

each Unit.
UNIT |
. (a) Discuss the necd for and significance of
entrepreneurs in an economy like India.

(b) Describe in brief the psychological factors
that  influence = the development  of

entreprencurship.



(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

UNIT 1i

“The main objective of various policies of
Govt. of India is to promote entrepreneurship
in the country”. Comment,

Write a short notes on market assistance
provided to the industries in backward areas.

UNIT 11

Define project, lixplain  how techniecal

analysis is useful for a new project.

Deseribe the role of market and demand
analysis for a new project.

UNIT IV

What arc the various sources used for raising
long term loans for a new project?

List out the techniques invalved in project
rcport.

UNIT V

Define industrial sickness. Discuss the
various causes of industrial sickness in
India.

Describe the process of setting up of a small-
scale industries in India.

2 (3404MC)

=1

°

10.

11.

12.

PART B - (4 x5~ 20 marks)

Answer any FOUR of the following.

Define enterprise, entrepreneur

entrepreneurship.

Venture capital.

Tax concessions.

Technical feasibility.
Importance of project report.
Cost estimation.

BIFR.

Objectives of SSls.

and

3 (3404MC)



{(a)

(b)

(a)

(b)

(a)

)

UNIT II1

Discuss the principtes of learning and
describe the process of learning,

Or
What is reinforcement and what is role of
reinforcement in organizational
management?
UNIT IV

What is Herzberg's two factors theory?

Explain its characteristics.

Or

Describe group formation process in detail,
UNITV

Discuss various types of ¢onflicts. How do we
develop a conflict management system?
Or

What is group décision making? Discuss
various techniques of group decision making.

SECTION B — (4 x 5 = 20 marks)

Answer any FOUR of the following.

Nature of OB,

Measurement of attitude.

9 (3406 MC)

9.

10.

11.

12,

Importance of mativation.
Organisational change.
Types of groups.

Need hierarchy theory.
Values.

Types of learners.
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HIYEAR U.G. INSTANT EXAMINATIONS,
JUNE 2017,

Part — 11
ORGANIZATIONAL BEHAVIOUR
(Regulation 2013-2014)

Time : Three hours Maximum : 70 marks

SECTION A — (5 x 10 =50 marks)

Answer the following questions.

UNIT I
i, (a) What is behavioural scicnce? fixplain the
significance of behavioural science in
management,
Or

{b)  Explain Mec Gregor's theory X and Theory Y
approach.
UNIT II

2. (a) What is attitude? Explain the characteristics
and components of attitudes.

Or

(b} What is perception? Describe the factors
influencing pereeption.



9.

10,

11.

12.

SLCTION B — (5 % 10 =50 marks)
Answer any ONE guestion from each Unit.
UNIT I
Discuss the theories of labour welfare.

Or

Fxplain in detail the role and duties of labour
welfare officer.

UNIT II

Define workers participation  in management.
Discuss the nature and scope of workers
participation in management.

Or

Dhscuss the role of workers participation in
management in prometing labour welfare.

UNIT I

Explain  the various programs of workers
education scheme,

Or

What arc the provisions of Factories Acet, 1948 for
promoting labour welfare.

2 (3408 LM)

13.

14,

UNIT TV
What are the objectives of 11,07

Or

What is the role of trade unions in providing the
labour welfarc measures?

UNIT V
What is industrial social work? Explain.
Or

What are the problems of industrialisation?
Discuss.
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I YEAR U.G. INSTANT BXAMINATIONS,
JUNE 2017.

Part 11
LABOUR WELFARE MANAGEMENT

{Regulation 2013-2014)

Time ;: Three hours Maximum : 70 marks

3.

6.

SECTION A — (4'x 5 = 20 marks)

Answer any FOUR of the following.
What are the functions of an occupational diseasce?
What is the importance of industria) hygiene?
Lixplain the concept of workers education.

Write about any five non-statutory welfare

measures.
Define corporate social responsibility.

Write any five functions of welfare officer.



(3604 CU)

I YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — IT Procedure and Practice
CUSTOMS ACT - LAW PROCEDURE AND PRACTICE

{Regulation 2010-2011)
Time : Three hours Maximum : 70 marks
SECTION A — (4 x 5 =20 marks)

Answer any FOUR questions.

1. What are the main objectives of Customs Tariffs Act (CTA) 19757
€953 B00%0 Bego (CTA) 1975 GBosgy, B9y 00 BESOE.

2. What do you mean by Shipping bill?
2NoR BS edrR?

3. Write about Countervailing Duty (CVD).
270esB DR ¢hrmged 10800 [ProswEL.

4. Write a note on warehousing.

ﬁgome) 15Bod L3307 H300HHw.

5.  Explain briefly about. EPCG.
EPCG /809 £)dor d580ydw.

6. What is meant by Baggage?
UBHCS‘ XTRDIP

7. What are Deemed Exports?
2D GHORRIE DTD7

8. Calculate Countervailing Duty (CVD) payable on a product whose MRP is Rs.1,500 and its
assessable value is Rs.1,000. This product is assessable under Central Excise after allowing
an abatement of 40% on MRP, being basic excise duty 16%.

25 D50 Go¥), MRP $8 & 1,500 $08a50 ovd Gwl), endyos deod 5. 1,000 S S09p
IBE 00577 dEaoBegPE> MRP &° 40% Trond (abatement) 39gIEH0E. & H080 B
16% &2 erORr T ddoTEyd §70es R iyl (CVD) 88 0108



10.

12

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNIT I
Write briefly about self-assessment of Customs Duty, 1962.
53S0 Bigo, 1962 M), B5a00 38y dFBes B80S Fo§I0m 2500,
Or

What is Customs Duty? Explain the circumstances under which no duty will be levied.

SRy carged @mR? 2 $83E0S” drglen 280SweS® 2HBoHIN.
UNIT II

Explain different types of import duties.

DD B5°0 BILRBE CErrgeioiy 298D,

Or

S Ltd, 1s a SSI Unit availing the benefit of Notification No. 8/2003. Goods imported from
USA. CIF value of imported Goods i1s USD 1,00,000. Basic customs duty @ 10% and
applicable rate of excise duty if manufactured in India @ 8%. Exchange rate ¥ 50 per USD.
Calculate the total customs duties.

S Ltd, .8 23 &8¢ 380 (SSI Unit) 8/2003 S730838 (o8 (SABramreom 205808, & $5o3
2.0.9 PrASA5D B0 IR DD e § 1,00,000 HE20% Sgayy 50050 10% grsstsos’
&8 DS HPodwt IFE o¥o 8% W0 Hrarawn DrSEH Bew T 50/3. JoBo EJA
Grg3d B8 0P,

UNIT III

Explain about stores in Customs Act, 1962, Also explain the provisions relating to stores in
the Act.

Bpa) 5830, 1962 &° 258y 080 25609 Td Boaly, daodde HBod ErdAIBL.

Or
Explain the importance of customs House Agent in case of imports and exports.
QoBoduen §rOBeS SIQS.) TR Bt BwE, RSB D5B0HN0.
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15.

16.

17.

18.

UNIT IV

An importer imported goods worth USD 10,000 on assessable value basis and the relevant
exchange rate is T 45/8 being the basic customs duty 10% plus 2% education an Calculate the
total customs duty. '

28 BODIT R BIODY IR0y Do SRy dend $10,000.8A% Sr8EH Deod T 45/,
00 SRSy K050 10% 2080k dTRAY 2% Do 35y Erpdo B8 008,
Or

An importer imported goods by air at USD 12000 on FOB basis. Insurance is $135 and
Freight for $ 3000. The relevant exchange rate is 45/$. Arrive the assessable value.

050 BTER T BRI B 9.0 G5 $12000. HI3T* H5A0H $135 BN Sarer FoPen
3 3000. 27859 Bew> T45/8. 33y DeodH) ERR"BL,
UNIT V
What do you mean by SEZ? Explain the objectives and impoertance of SEZ in India.
NE 0HTR? DE GE), @rHnaBd H801) oFreR JBBoHRw.
Or

What 1s E0OU? Explain the role of EOU in export prombtion.
EQU es5mwd207 HHd0es0e ea@bo)gés &0 GBoot), R dboBod.

3 (3604 CU)
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II YEAR U.G. INSTANT EXAMINATIONS, JUNE 2017.
Part II — Commerce
CORPORATE ACCOUNTING
(Regulation 2010-2011)

Time : Three hours Maximum : 70 marks

o

:'-'l

SECTION A — (4 x 5§ = 20 marks)
Answer any FOUR of the following.
What are the necessities of accounting standards?

3 0tI0R [SHIrere GHR50 DD ?

Explain various items which influences goodwill.

HEISKL (Sprowo B eoween D97

Explain internal reconstruction.

©0BIB HIG)oyeton HHBod d58oB0é.

What is mean by non-performance assets?

RELEH B esiien GRTRHN?

Give the meaning of statutory reserve.

TROTLE Basthg ©ITAN?

Explain the bonus shares.

B Tered 80D Beyod.

SECTION B — (5 x 10 = 50 marks)
Answer CNE question from each Unit,

UNIT 1

A business concern had earned profits for the past 3 years follows

2007 - 50,000, 2008 - 60,000, 2009 - 70,000. Average capital employed in the business
Rs. 40,000 reasonable rate of return expected in a similar business is 10%. From the above
reason, calculate the value of goodwill under. )

(a) 2 years purchases of the average profits of last 3 years.

(b) 4 years purchases of super profit on the basis of average profit of previous 3 years.



16 3 SoneH a8 Tyrd 03 08 orgren Akodold.

2007 - 50,000, 2008 - 60,000, 2009 - 70,000. 3K Soredso &, 40,000 Argrdes 37°8),60 B
- 10%. p 250°08" KEIS B8 0808,

() K& 3 Jon SooH8 ergRund’ 2 Son ergrdy &S T grdobod.

(b) A& 3 Don JovHB B25v58 [eS 4 Done ergrR) HEIST PgraoBod.

Or
From the following information, calculate the value of equity shares.
Rs.
20,000 9% preference shares at Rs. 10/- each 2,00,000
50,000 equity shares at Rs.10/- each Rs. 8 called up 4,00,000
Expected profits per year before tax 2,18,000
Rate of tax 40%
Transfer to general reserve every year - 20% profit
Normal rate of earning 15%

208 dendeds’ Trer devdiv 88) 0vod.

8.
20,000 9% @555{3) Freren 850, 10/- 255500 2,00,000
50,000 é«§$e3 JeTreo dre. 10/- 817, 8 ISR 4,00,000
53y DOV Do erdio 2,18,000
3999 Be | ¥ 40%
FeOes Bestngsd QoD 20% ereren
e BROY Bew . 15%

UNIT I1

*S.V. Ltd, has the following items in the balance sheet.
(a) 1,00,000 equity shares of Rs. 50 each Rs. 40 paid up
(b) General reserve Rs. 11,00,000
(¢) Shares premium Rs. 5,00,000
(d) Capital reserve Rs. 7,060,000
The co.mpany decided
(i) To capacities in general reserve
(1) To convert the existing shares into fully paid up

(i) To issue 20,000 bonus shares of Rs. 50 each at premium of share premium and
capital reserve. Give journal entries.

2 (3701)



10.

8.V. Ltd. din), e eifpo ddoren S+ 1§08 S0 9o,
(@) 1,00,000 &edge3 eren 5. 50, 657, 40 Do
(b} egprSes Badys e, 11,00,000

(c) Do PASHo &0, 5,00,000

(D) sures Setg 8. 7,00,000

0Db 20028
(1) pres Bmdigo weﬁsbétﬁm 2Da5rd.
(i) I 3go§3 Trereu o).

(i) &8 DD 20,000 B Tereon K. 50 SIPR (DA00, PWEDO 2B BTOED

Bestiog-Dep SEen Eraod.
Or

On 1.1.2007 Prem Company Ltd. was incorporated to acquire the business of B with a
nominal capital consisting at 3,500 equity shares of Rs. 100 each. The purchase consideration
was agreed at Rs. 2,50,000 to be discharged in 1,500 equity shares at Rs. 100 each 700, 8%
debentures at Rs. 100 each and the balance in cash. All assets and liabilities were taken over
at book values. The balance sheet of B, on the date of acquisition is given below.

Liabilities Rs. Assets Rs.
Capital 1,69,000 Building 1,10,000
Creditors 56,000 Machinery 40,000

Furniture 25,000

Stock 30,000
Debtors 20,000
2,25,000 2,25,000

Pass necessary journal entries in the books at Prem Co. Ltd.

1.1.2007 % (b8 502d SBE Fdosad, B G, T80 SHR'e Jainetd afonodd 8
Qaregno 3,600 Twerey 8. 100 SpR SRRt 38300 2,50,000 drv.eo 809 1,500 8l
Teren 8. 100 S 700, 8% ABODS 6. 100 T DAGHE HAEH Sr30S° 3183t DFowos.

SSVER Ieéu)mr-ﬁa DY dewdel Sy, B S02d @Y, e efpe SQ95 fod 3ID8.
3 (3701)



pen 5,0 eIRpen &,
Sreito  1,69,000 Fdaren 1,10,000

avnDHey 56,000 dbo@ren 40,000

56y58 25,000
BB 30,000

aeaftyey 20,000
2,265,000 ~2,25,000
(23 502DS® BB Dex S EraHos.
' UNIT 111 -

11. What is meant by amalgamation in the nature of purchase? Explain its significance.
BodireKo eRTPN? T3 @), SRR e Jgrarg) 9H80w0é.
Or

12.  On 31-3.2009 a Jansi Ltd. Co. balance sheet is as follow.

Liabilities Rs. Agsets Rs.
4,000 pref. shares of Rs. 100 4,00,000 Goodwill - 2,00,000
6,000 equity shares of 100 6,00,000 Building 2,20,000
Creditors 2,00,000 Machinery 1,80,000
| Stock 1,860,000
Debtors 1,80,000
Cash 20,000

Profit and loss a/c  2,40,000
12,00,000 12,00,000

On the basis of financial position company agreed the following reconstruction scheme.
(a) Pref. share value and equity share value to be reduced Rs. 50.

(b) Good will and profit and loss a/c to be written up.

(c) Building and machinery are to be reduced by Rs. 30,000 and Rs. 20,000 respectively.
«{d) Balance amount provide for bad debt reserve.

Pass journal entries to implement the above scheme and prepare B/S.
4 (3701)



31.3.2009 738 2Ry du B02d 3 vpe 53 (808 dgorr &b,

P &, SRIeD &,

4,000 8359 ;‘Pe.reu-&ﬁ. 100 4,00,000 &S 2,00,000
6,000 S08ged Treen &, 100 6,00,000 #sTee0 2,20,000
BAVEITHD 2,00,000 oim@**m 1,80,000
BB 1,60,000

eEaTe 1,80,000

B 20,000

PHFO T 2,40,000

12,00,000 | 12,00,000

E02D 508 S8J8D BHRS” &oKED 508 HIG)Tye SRV SATBITH.

(a) 655 2B Sedeed Treresy 8. 50 BRowSS.

(B %ESS 2oBan RSN arEre) 883 Basrd.

(©)  gS5Tok & 30,000 alo@ress &v. 20,000 BROSIBR.

(d) 2RSS doge o0 arde Batigdd domyen BaALSBy.

2 55500 edoey Babardt endtApD dur SEen FFR e ekipo :)eé:\') BASTEB008.

UNIT IV

Draw a balance sheet proforma of a bank.
250t Bg), e P HJNTTR BATSHIoDob.
Or

From the following information prepare profit and loss account of SBI Ltd. for the year ended
31.3.2010.

_ Rs.
interest on bonus 26,00,000
Interest on term deposit 27,00,000
Discount on bills discount 15,00,000
Commission 80,000

5 (3701)



Payments to erﬁployees
Directors fees

Postage

Depreciation on bank property
Interest on cash credit
Interest on overdraft
Interest on savings deposits
Profit on sale of investment
Rent and taxes

Auditors fees

Printing and stationary
Income on investment

Profit and loss a/c (1.4.2009)

(a) Bad debts to be written off 4,00,000

(b)  Provision for taxation is to be made at 50%.

8,00,000
50,000
10,000
80,000

éZ,O0,000
15,00,000

7,00,000

6,00,000

1,60,000
40,000
30,000

2,00,000

50,00,000

31.3.2010 & eeoéméi35 boéén)mx)?. SBI Ltd. cod® Jarordo egrbonr wﬁb;ge) TP

Hosridabod.

by

oY &

SRR ;’)é

ERm,0000 DR Den (A7, 06w
LI

&8 000 Do

@o5Y Ve

5y

ergos) sRep BEHS

BHS BASP 3G

855 @R 3G

&,
26,00,000
27,00,00%
15,00,000

80,000

8,00,000

50,000

10,000

80,000

22,00,000

-15,00,000
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15.

o2ofy Eardep 5 7,00,000

ELMAL e:;‘)oégo';.g erdo | 6,00,000
&), Shyen 1,60,000
ealeS Dar 40,000
Hooes, o8 - 30,000
be.gax‘iw})_ e3rao 2,00,000
eIt gree (1.4.2009) 50,00,000

(a) oD erle 625 4,00,000
(b)  50% Sdyed Jovye BArS.

UNIT V

From the following particulars at Moon Life Insurance Company prepare reserve a/c for the

yvear ended 31.12.2009

Claims by death
Claims by maturity
Premiums
Consideration for annuities granted
Annuities paid
Bonus paid in cash

. Expenses of management
Commission
Interest, dividend and rent
Surrenders
Bonus in reduction of premium
Dividend paid to shareholders
Life assurance fund
Outstanding death claims at the beginn:ing of the vear

Qutstanding death claims at the end of the year
7

Rs.
1,42,000
70,200
14,12,100
1,64,000
1,086,900
4,800
63,800
19,140
1,95,700
26,300
1,800
9,000
30,45,000
22,000
16,000
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Or

&+ (306 DH070 %008 31.12.2009 &° woRuchy HoNETRS BT B2G P Lo DN PR

BASTEBOIV[D.
&,
Bolere wogoe gcm&m 1,42,000
K& BB gcmﬁm 70,200
D030 14,12,100
TP 0L (HAJere 1,64,000
P50 290 1,06,900
BHE> 5%5R 4,800
DoREI0eT PENE 63,800
§£n;i§ 19,140
5&, Batod: $r8080 & 1,95,700
Py | 26,300
@0aHo BROH™ B5°HR 1,800
TerErOL EIT0 Do) 9,000
228 i 8 30,45,000
Do8ere T DDoUNHevs gonﬁa P08y deg 22,000
8eTe To° IYoNHOND gonﬁ) 300 deg 16,000

16. Explain the objectives of accounting standards.

oF"odof (SHrere adToh BdanEMDOE.

8 ' (3701)



